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TENTATIVE ANSWER KEY 
GENERAL STUDIES AND APTITUDE AND MENTAL ABILITY 

 
1. Match the following and choose the correct option: 

(a) Chloroform   1. CCl3 No2  

(b) Phosgene   2.  ClC2H4–S-C2H4Cl 
(c) Tear gas   3. CHCl3 

(a) Mustard gas   4. COCl2 

 (a) (b) (c) (d) 
(A) 3 4 2 1 
(B) 1 4 3 2 
(C) 3 4 1 2 
(D) 4 3 1 2 
(E) Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;iw rhpahfg; nghUj;jp FwpaPLfs; %yk; rhpahd tpilapidj; 
Njh;T nra;f: 
(a) FNshNuhghh;   1. CCl3 No2  

(b) gh];[Pd;   2.  ClC2H4–S-C2H4Cl 
(c) fz;zPh;g; Gif  3. CHCl3 

(a) fLF thA   4. COCl2 

 (a) (b) (c) (d) 
(A) 3 4 2 1 
(B) 1 4 3 2 
(C) 3 4 1 2 
(D) 4 3 1 2 
(E)  tpil njhpatpy;iy 

 
2. Which of the following statements are true about the Nordics? 

(i) Indo-Aryans are the last immigirants into India. 
(ii) This group was the next to come to India after the Negritos. 
(iii) This group have come india between 2000 and 1500 BC. 
(A) (i) only   (B) (i) and (iii) only 

(C) (i) and (ii) only  (D) (ii) and (iii) only          [iii Only Correct] 

(E) Answer not known 
ehh;bf;]; Fwpj;j gpd;tUk; $w;Wfspy;cz;ikahd $w;W vJ? 
(i) ,e;Njh Mhpah;fs; ,e;jpahtpy; filrpahf FbNawpath;fs;. 
(ii) nef;hpl;NlhfSf;F gpwF ,e;jpahTf;F te;j FO ,e;jf; FO. 
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(iii) ,e;jf; FO 2000 kw;Wk; 1500 BC f;F ,ilapy; ,e;jpahtpw;F te;jdh;. 
(A) (i) kl;Lk;   (B) (i) kw;Wk; (iii) kl;Lk; 
(C) (i) kw;Wk; (ii) kl;Lk; (D) (ii) kw;Wk; (iii) kl;Lk; 
(E) tpil njhpatpy;iy 

 
3. Which of the statement(s) is /are correct? 

(i) Satakarni was First Satavahana King and not the powerful Satavahana ruler. 
(ii) His achievements are not described in the Managhat inscription. 
(iii) His name was inscribed on one of the gateways of Sanchi stupa and referred to 

as “Lord of Dakshinpatha”. 
(A) (iii) only    (B) (ii) and (iii) only 
(C) (i) only    (D) (i) and (ii) only 
(E) Answer not known. 
fPNo nfhLf;fg;gl;l $w;W/$w;Wfspy; vJ/vit rhpahdit? 
(i) rjfh;zp rhjthfd kd;dh;fspy; Kjy; murh; kw;Wk; Kjy; rf;jp tha;e;j 

rhjthfd Ml;rpahsh; my;y. 
(ii) mtUila rhjidfs; kdhfhl; fy;ntl;by; Fwpg;gplg;gltpy;iy 
(iii) rhQ;rp ];J}gpapd; Eiothapy;fs; xd;wpy; mtuJ ngah; nghwpf;fg;gl;Ls;sJ 

kw;Wk; “jl;rpzghjj;jpd; ,iwtd;” vd;W Fwpg;gplg;gLfpwJ. 
(A) (iii) kl;Lk;    (B) (ii) kw;Wk; (iii) kl;Lk; 
(C) (i) kl;Lk;    (D) (i) kw;Wk; (ii) kl;Lk; 
(E) tpil njhpatpy;iy 

 
4. Which among the following statement(s) is/are true about Indian National Congress? 

(i) The Father of Indian National Congress is A.O. Hume. 
(ii) The first President of Indian National Congress was S.N. Banerjee. 
(iii) S.N. Banerjee founded Indian National Liberation Federation.. 
(A) (i) only   (B) (i) and (iii) only 
(C) (i) and (ii) only  (D) (ii) and (iii) only 
(E) Answer not known. 
gpd;tUtdtw;Ws; ,e;jpa Njrpaf; fhq;fpu]; gw;wpa rhpahd $w;W /$w;Wfisj; Njh;T 
nra;f: 
(i) ,e;jpa Njrpaf; fhq;fpu]pd; je;ij A.O. `pa+k; Mthh;.  
(ii) ,e;jpa Njrpaf; fhq;fpu]pd; Kjy; jiyth; S.N. ghdh;[p Mthh;. 
(iii) S.N. ghdh;[p ,e;jpa Njrpa tpLjiy mikg;ig epWtpdhh;. 
(A) (i) kl;Lk;   (B) (i) kw;Wk; (iii) kl;Lk; 
(C) (i) kw;Wk; (ii) kl;Lk; (D) (ii) kw;Wk; (iii) kl;Lk; 
(E) tpil njhpatpy;iy. 

 
5. Incorporation of Fundamental Duties to the Constitution of India was done by 

__________. 
(A) 42nd Constitutional Amendment Act 1976. 
(B) 43rd Constitutional Amendment Act 1977 
(C) 44th Constitutional Amendment Act 1978 
(D) 45th Constituional Amendment Act 1980 
(E) Answer not known 
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,e;jr; rl;lj;jpUj;jj;jpd; %yk; mbg;gilf; flikfshdJ ,e;jpa murikg;gpy; 
Nrh;f;fg;gl;lJ. 
(A) 42-tJ murpayikg;Gj; jpUj;jk; 1976. 
(B) 43-tJ murpayikg;Gj; jpUj;jk; 1977. 
(C) 44-tJ murpayikg;Gj; jpUj;jk; 1978. 
(D) 45-tJ murpayikg;Gj; jpUj;jk; 1980. 
(E) tpil njhpatpy;iy 

 
6. Which of the following are true about Tamil Nadu Panchayats Act, 1994? 

(i) Chapter II of this Act deals with Gram Sabha. 
(ii) Chapter VII deals with Taxation and Finance. 
(iii) Chapter XII deals with Penalties. 
(A) (i) only   (B) (i) and (iii) only 

(C) (i) and (ii) only  (D) (ii) and (iii) only 
(E) Answer not known 
fPo;f;fz;l jkpo;ehL gQ;rhaj;Jfs; rl;lk;> 1994 njhlh;ghdtw;Ws; rhpahdJ vit? 
(i) ,r;rl;lj;jpd; ,uz;lhk; mj;jpahak; fpuhk rig njhlh;ghdJ MFk;. 
(ii) ,jd; Vohk; mj;jpahak; thp tpjpg;G kw;Wk; epjp njhlh;ghdJ MFk;. 
(iii) ,jd; gd;dpuz;lhtJ mj;jpahak; mguhjq;fs; njhlh;ghdJ MFk;.  
(A) (i) kl;Lk;   (B) (i) kw;Wk; (iii) kl;Lk; 
(C) (i) kw;Wk; (ii) kl;Lk; (D) (ii) kw;Wk; (iii) kl;Lk; 
(E) tpil njhpatpy;iy 

 
7. Find out Incorrectly paired: 

Commission     Year of Establishment 
(1) NHRC     - 1993 
(2) Central Information Commission - 2005 
(3) Central Vigilance Commission  - 1963 
(4) Central Bureau of Investigation - 1069 
(A) (2) and (3) only  (B) (1) and (2) only 
(C) (3) and (4) only  (D) (2) and (4) only 
(E) Answer not known 
jtwhd ,izia fz;Lgpb: 
Mizak; / mikg;G   Vw;gLj;jg;gl;l Mz;L 
(1) Njrpa kdpj chpikfs; Mizak; - 1993 
(2) kj;jpa jfty; Mizak;  - 2005 
(3) kj;jpaf; fz;fhzpg;G Mizak; - 1963 
(4) kj;jpag; Gydha;T mikg;G  - 1069 
(A) (2) kw;Wk; (3) kl;Lk; (B) (1) kw;Wk; (2) kl;Lk; 
(C) (3) kw;Wk; (4) kl;Lk; (D) (2) kw;Wk; (4) kl;Lk; 
(E) tpil njhpatpy;iy 

 
8. Tamil Nadu Government celebrated April 29 to May 5 to mark Birth anniversary of 

(A) Pavendar Bharathidasan 
(B) Perunthalaivar Kamarajar 
(C) Pasumpon Muthu Ramalinganar 
(D) Perarignar Anna 
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(E) Answer not known 
jkpof muR Vg;uy; 29 Kjy; Nk 5 Mk; Njjp tiu ,tUila gpwe;j ehis 
nfhz;lhbaJ 
(A) ghNte;jh; ghujpjhrd;  (B) ngUe;jiyth; fhkuh[h; 
(C) gRk;nghd; Kj;Juhkypq;fdhh; (D) NguwpQh; mz;zh 
(E) tpil njhpatpy;iy 

 
9. Which is/are the key feature/s of the Women’s Reservation Bill passed by the Lok 

Sabha on 20th Sept. 2023? 
(i) The Bill reserves 33% of all seats for women in Lok Sabha and State Legislative 

Assemblies. 
(ii) It will not apply to the seats reserved for SC/ST in Lok Sabha and State 

Legislatures. 
(iii) Reservation to be provided for 25 years. 
(iv) To be effective after delimitation exercise. 
(A) (i) and (ii) only   (B) (i) and (iv) only 
(C) (ii) and (iii) only   (D) (i) and (iii) only 
(E) Answer not known 
nrg;lk;gh; 20> 2023 md;W kf;fsitapy; epiwNtw;wg;gl;l kfsph; ,l xJf;fpL 
kNrhjhtpd; Kf;fpa mk;rq;fs; vit? 
(i) ,e;j kNrjh kf;fsit kw;Wk; khepy rl;lkd;wq;fspy; cs;s midj;J 

,lq;fspYk; ngz;fSf;F 33% xJf;FfpwJ. 
(ii) Nyhf; rgh kw;Wk; khepy rl;lkd;wq;fspy; SC/ST f;F xJf;fg;gl;l ,lq;fSf;F 

,J nghUe;jhJ. 
(iii) 25 Mz;LfSf;F ,l xJf;fPL toq;fg;gLk;. 
(iv) njhFjp kWtiuaiwg; gapw;rpf;Fg; gpwF eilKiwf;F tUk;. 
(A) (i) kw;Wk; (ii) kl;Lk; (B) (i) kw;Wk; (iv) kl;Lk; 
(C) (ii) kw;Wk; (iii) kl;Lk; (D) (i) kw;Wk; (iii) kl;Lk; 
(E) tpil njhpatpy;iy 

 
10. Choose the right matches: 

(1) NHS  - National Health Service 
(2) CBHI  - Central Bureau of Health Insurance 
(3) PHC  - Primary Health Center 
(4) NRHM  - Nationaala Real Health Mission 
(A) (1) and (3) are correct  (B) (1) and (2) are correct 
(C) (2) and (3) are correct  (D) (3) and (4) are correct 
(E) Answer not known 
rhpahd nghUj;jq;fisj; Njh;T nra;aTk;: 
(1) NHS  - Njrpa Rfhjhu Nrit     
(2) CBHI  - Rfhjhuf; fhg;gPl;Lf;fhd kj;jpag; gzpafk; 
(3) PHC  - Muk;g Rfhjhu epiyak; 
(4) NRHM  - Njrpa Rfhjhu Nrit ikak; 
(A) (1) kw;Wk; (3) rhpahdit  (B) (1) kw;Wk; (2) rhpahdit 
(C) (2) kw;Wk; (3) rhpahdit  (D) (3) kw;Wk; (4) rhpahdit 
(E) tpil njhpatpy;iy 
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11. Assertion (A): Quality of life of people living in rural areas of Tamil Nadu has  
improved. 
Reason (R): The Tamil Nadu state has introduced a flagship programme called 
Tamilnadu Village Habitations Improvement Scheme.  
(A) (A) is true and (R) is false 
(B) Both (A) and (R) are true; and (R) is the correct explanation of (A) 
(C) (A) is false; (R) is true 
(D) Both (A) and (R) are true but (R) is not the correct explanation of (A) is correct 
(E) Answer not known 
$w;W (A): jkpo;ehl;bd; fpuhkg;Gwq;fspy; thOk; kf;fspd; tho;f;ifj; juk; 
Nkk;gl;Ls;sJ. 
fhuzk; (R): jkpo;ehL muR jkpo;ehL fpuhk tho;tpl Nkk;ghl;Lj; jpl;lk; vd;w 
Kjd;ikj; jpl;lj;ij mwpKfg;gLj;jpAs;sJ.  
(A) (A) rhp kw;Wk; (R) jtW 
(B) (A) kw;Wk; (R) ,uz;LNk rhp kw;Wk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;. 
(C) (A) jtW; (R) rhp 
(D) (A) kw;Wk; (R) ,uz;LNk rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fk; ,y;iy 

vd;gJ rhp  
(E) tpil njhpatpy;iy 

 
12. Match the following with the schemes 

(a) Mathi Bazar   1. Clean energy 
(b) Pasumai Veedugal Thittal 2. Skill development 
(c) Naan Mudalvan   3. Poverty Eradication 
(d) Aajeevika    4. SHG 

(a) (b) (c) (d) 
(A) 3 1 2 4 
(B) 4 1 2 3 
(C) 1 3 2 4 
(D) 4 3 1 2 
(E) Answer not known 
gpd;tUtdtw;iw mtw;wpd; jpl;lq;fSld; nghUj;jTk;: 
(a) kjp g[hh;   1. Rj;jkhd vhprf;jp 

(b) gRik tPLfs; jpl;lk; 2. jpwd; Nkk;ghL 
(c) ehd; Kjy;td;  3. tWik xopg;G 
(d) m[Ptpfh   4. Ra cjtpf;FO 

(a) (b) (c) (d) 
(A) 3 1 2 4 
(B) 4 1 2 3 
(C) 1 3 2 4 
(D) 4 3 1 2 
(E) tpil njhpatpy;iy 

 
13. Which of the following statements are true about Micro, Small and Medium 

Enterprises (MSMEs) in Tamil Nadu? 
(i) Tamil Nadu ranks third in the country in Udyam Registrations 
(ii) 30% of the state’s entrepreneurs are women 
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(iii) Coimbatore has the most number of MSMEs in the State. 
(A) (i) only   (B) (ii) and (iii) only 
(C) (i) and (ii) only  (D) (i) and (iii) only 
(E) Answer not known 
jkpo;ehl;by; cs;s FW> rpW kw;Wk; eLj;ju njhopy; epWtdq;fs; (MSMEfs;) gw;wp 
gpd;tUk; $w;Wfspy; vJ rhpahdit? 
(i) cjak; gjpTfspy; jkpo;ehL ,e;jpahtpd; %d;whtJ ,lj;jpy; cs;sJ. 
(ii) khepyj;jpy; 30% njhopy;KidNthh; ngz;fs;.  
(iii) Nfhak;Gj;J}hpy;jhd; khepyj;jpNyNa mjpf FW> rpW kw;Wk; eLj;juj; njhopy; 

epWtdq;fs; cs;sd.. 
(A) (i) kl;Lk;   (B) (ii) kw;Wk; (iii) kl;Lk; 
(C) (i) kw;Wk; (ii) kl;Lk; (D) (i) kw;Wk; (iii) kl;Lk; 
(E) tpil njhpatpy;iy 

 
14. Which of the following statement(s) is/are true about Khilji building? 

(i) K.S. Lal observes that with the enthronement of Alaudding Khilji, a new era 
was ushered in architecture in the Hindu Muslim style. 

(ii) Marshal writes, “Hauzi-i-khas is one of the most treasured gems of Islamic 
architecture.” 

(iii) “Percy Brown remarks” the entrance gateway of the mosque of Alauddin Khilji 
occupies a key position in the evolution of Islamic architecture in India. 

(A) (i) only   (B) (i) and (ii) only 
(C) ((i) and (iii) only  (D) (ii) and (iii) only 
(E) Answer not known 
fpy;[pfspd; fl;blk; gw;wpa gpd;tUk; $w;Wfspy; vJ/vit cz;ik? 
(i) myhTjPd; fpy;[p mhpaiz Vwpagpd; ,e;J-K];ypk; ghzp fl;blf; fiyapy; xU 

Gjpa rfhg;jk; njhlq;fg;gl;ljhf Nf.v];. yhy; $Wfpwhh;.  
(ii) `T];-,-fh]; ,];yhkpa fl;blf; fiyapd; kpfTk; nghf;fp~khd uj;jpdq;fspy; 

xd;W vd;W khh;~y; Fwpg;gpLfpwhh;. 
(iii) myhTjPd; fpy;[papd; k#jpapd; EioT thapy; ,e;jpahtpy; ,];yhkpa 

fl;blf;fiyapd; ghpzhk tsh;r;rpapy; Kf;fpa ,lj;ijg; gpbj;Js;sJ vd;W 
ngh;rp gpuTd; $Wfpwhh;”.  

(A) (i) kl;Lk;   (B) (i) kw;Wk; (ii) kl;Lk; 
(C) ((i) kw;Wk; (iii) kl;Lk; (D) (ii) kw;Wk; (iii) kl;Lk; 
(E) tpil njhpatpy;iy 

 
15. Arrange the following events in chronological order. 

(1) Civil disobedience movement. 
(2) Sepoy Mutiny 
(3) Vellore Mutiny 
(4) South Indian Rebellion. 
(A) (2), (3), (1), (4)  (B) (1), (2), (4), (3) 
(c) (4), (2), (3), (1)  (D) (4), (3), (2), (1) 

(E) Answer not known. 
gpd;tUk; epfo;Tfisf; fhy thpirg;gb Kiwg;gLj;Jf. 
(1) rl;l kWg;G ,af;fk;  (2) rpg;gha; fyfk; 
(3) NtY}h; fyfk;   (4) njd;dpe;jpag; Gul;rp. 
(A) (2), (3), (1), (4)  (B) (1), (2), (4), (3) 
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(c) (4), (2), (3), (1)  (D) (4), (3), (2), (1) 
(E) tpil njhpatpy;iy. 

 
16. Match correctly the books and the Author name:  

(a) Thirukkural Uraivalam   1. Va. Se. Kulanthai Samy 
(b) Thirukkural numporul malai  2. Ki. Va. Jeganathan 
(c) Thirukkural Araichi pathippu  3. Karirathina Kavirayar 
(d) Vazhum Valluvam   4. Thandapani Thesigar 

(a) (b) (c) (d) 
(A) 4 3 2 1 
(B) 1 2 3 4 
(C) 4 2 1 3 
(D) 1 3 4 2 
(E) Answer not known 
Gj;jfq;fisAk; Mrphpahpd; ngaiuAk; rhphafg; nghUj;jTk;:  
(a) jpUf;Fws; ciutsk;   1. t.nr. Foe;ij rhkp 
(b) jpUf;Fws; Ez;nghUs; khiy  2. fp.th. n[fe;ehjd;  
(c) jpUf;Fws; Muha;r;rpg; gjpg;G  3. fhhpuj;jpdf; ftpuhah; 
(d) thOk; ts;Stk;    4. jz;lghzp Njrpfh; 

    (a) (b) (c) (d) 
(A) 4 3 2 1 
(B) 1 2 3 4 
(C) 4 2 1 3 
(D) 1 3 4 2 
(E) tpil njhpatpy;iy 

 
17. Arranging the chronological order/even type.  Arrange the major Pallava Kings. 

(1) Simhavishnu  - 555 to 590 CE  
(2) Mahendravarman I - 590 to 630 CE 
(3) Narasimhavarman I - 630 to 668 CE 
(4) Rajasimha  - 695 to 728 CE 

 (A) 1, 2, 3, 4   (B) 3, 1, 2, 4   (C) 4,2, 3, 1 
 (D) 2, 4, 1, 3   (E) Answer not known 

fhythpirg;gb gy;yt kd;dh;fis thpirg;gLj;J:   
(1) rpk;ktp~;Z  - 555 ypUe;J 590 CE  
(2) kNfe;jputh;kd; I  - 590 ypUe;J 630 CE 
(3) eurpk;kth;kd; I  - 630 ypUe;J 668 CE 
(4) uh[rpk;kh   - 695 ypUe;J 728 CE 

 (A) 1, 2, 3, 4  (B) 3, 1, 2, 4   (C) 4,2, 3, 1 
 (D) 2, 4, 1, 3  (E) tpil njhpatpy;iy 
 
18. Who was the female poet who gave focused on heroism in the Tamil Society of 

Sangam Era as ‘Thonduvan Matho Porkalathane’ 
(A) Okkur Masathiar  (B) Kaval Pendu 
(C) Velliveethiar   (D) Avvaiyar 
(E) Answer not known 
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rq;ffhy jkpo;r; r%fj;jpy; “Njhd;Wtd; khNjh Nghh;f;fsj;jhNd” vd tPuj;jpw;F 
Kf;fpaj;Jtk; nfhLj;J ghba ngz;ghy; Gth; ahh;?  
(A) xf;$h; khrhj;jpahh;  (B) fhty; ngz;L 
(C) nts;sptPjpahh;   (D) xsitahh; 
(E) tpil njhpatpy;iy 

 
19. 3 men or 4 women or 12 boys can complete a work in one day.  In how many days a 

man, a woman and 5 boys together can complete that work? 
(A) 1 day  (B) 2 days    (C) 3 days   
(D) 4 days  (E) Answer not known 
3 Mz;fs; my;yJ 4 ngz;fs; my;yJ 12 rpWth;fs; xU Ntiyia xU ehspy; 
Kbg;ghh;fs; vdpy; 1 Mz;> 1 ngz; kw;Wk; 5 rpWth;fs; ,ize;J mt;Ntiyia 
vj;jid ehl;fspy; Kbg;ghh;fs;? 
(A) 1 ehs;  (B) 2 ehl;fs;    (C) 3 ehl;fs;   
(D) 4 ehl;fs; (E) tpil njhpatpy;iy 

 
20. Seats for Mathematics, Physics and Biology in a school are in the ratio 5:7:8.  There is a 

proposal to increase these seats by 40%, 50% and 75% respectively.  What will be the 
ratio of increased seats? 
(A) 2:3:4   (B) 6:7:8 
(C) 6:8:9   (D) None of the above 
(E) Answer not known 
xU gs;spapy; fzpjk;> ,aw;gpay; kw;Wk; caphpay; Mfpa ghlq;fSf;fhd ,lq;fs; 
5:7:8 vd;w tpfpjj;jpy; mike;Js;sJ.  ,e;j ,lq;fis KiwNa 40%> 50% kw;Wk; 
75% cah;j;Jtjw;fhd newpKiw ngwg;gl;Ls;sJ vdpy; cah;j;jg;gLk; ,lq;fspd; 
tpfpjk; vd;dthf ,Uf;Fk;? 
(A) 2:3:4   (B) 6:7:8 
(C) 6:8:9   (D) Nkw;fz;l vJTkpy;iy 
(E) tpil njhpatpy;iy 

 
21. The cost of 15 kg of sugar is Rs.255, the cost of 17 kng of tea is Rs.1,615 and the cost of 

22 kg of rice is Rs.572.  What is the total cost of 18 kg of sugar, 21 kg of tea and 27 kg of 
rice? 
(A) Rs.2,442   (B) Rs.3,923 
(C) Rs.3,003   (D) Rs.2,932 
(E) Answer not known 
15 fp.fp. rh;f;fiuapd; tpiy &.255> 17 fp.fp. Bj;J}s; tpiy &.1>615 kw;Wk; 22 fp.fp. 
mhprpad; tpiy &.572 vdpy; 18 fp.fp. rh;f;fiu> 21 fp.fp. Bj;J}s; kw;Wk; 27 fp.fp mhprp 
Mfpatw;wpd; nkhj;j tpiy vd;d? 
(A) &.2,442   (B) &.3,923 
(C) &.3,003   (D) &.2,932 
(E) tpil njhpatpy;iy 
 

22. The income of a person is increased by 10% and then decreased by 10%.  Find the 
change in his income in percentage. 
(A) reduced by 1%   (B) increased by 1% 
(C) reduced by 2%   (D) increased by 2% 
(E) Answer not known 
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xU eghpd; tUkhdk; 10% cah;j;jg;gl;L gpwF 10% Fiwf;fg;gLfpwJ vdpy; 
mtUila tUkhdj;jpy; Vw;gLk; khw;w tpfpjj;ijf; fhz;f. 
(A) 1% FiwfpwJ   (B) 1% $LfpwJ 
(C) 2% FiwfpwJ   (D) 2% $LfpwJ 
(E) tpil njhpatpy;iy 

 
23. Ravi ranks 9th in a class of 45 students.  There are 18 students below Raj Rankwise.  

How many students are there between Ravi and Raj rankwise? 
(A) 27    (B) 17 

(C) 18    (D) 19 
(E) Answer not known 
45 khzth;fs; cs;s tFg;gpy; utp 9tJ juk; ngw;Ws;shh;.  ,uh[;f;F fPNo 18 
khzth;fs; juk; ngw;Ws;sdh;.  utp kw;Wk; uh[;f;F ,ilg;gl;l juk; ngw;w khzth;fs; 
vz;zpf;if vd;d? 
(A) 27    (B) 17 
(C) 18    (D) 19 
(E) tpil njhpatpy;iy 

 
24. If DANGER is coded as 10-7-20-13-11-24, then the code of ‘MACHINE’ in the same 

code is 
(A) 13-7-20-9-11-25-15  (B) 13-7-20-10-11-25-15 
(C) 19-7-9-15-14-11-20  (D) 19-7-9-14-15-20-11 
(E) Answer not known 
DANGER vd;gJ 10-7-20-13-11-24 vd Fwpg;gplg;gl;bUe;jhy;> mNj FwpaPl;by; 
MACHINE vd;Dk; nrhy;ypd; FwpaPL 
(A) 13-7-20-9-11-25-15  (B) 13-7-20-10-11-25-15 
(C) 19-7-9-15-14-11-20  (D) 19-7-9-14-15-20-11 
(E) tpil njhpatpy;iy 

 
25. Carbon serves for the following purpose/purposes in living organisms: 

(1) It’s a structural component of organic molecule. 
(2) Helps to bind with other molecules 
(3) Gives flexibility to the form and function of Biomolecules such as DNA and RNA. 
(A) (1) alone   (B) (2) alone 
(C) (3) alone   (D) (1), (2) and (3) 
(E) Answer not known 
caphpdq;fspy; fhh;gd; fPo;f;fz;l ve;j gzp/gzpfisr; nra;fpwJ? 
(1) ,J fhpk %yf;$@fspd; fl;likg;G $whf nray;gLfpwJ. 
(2) ,J kw;w mZf;fSld; vspjpy; gpizg;Gfis Vw;gLj;JfpwJ. 
(3) ,J caph; %yf;$Wfs; (DNA, RNA) vLf;ff;$ba tbtk; kw;Wk; nray;ghl;bw;F 
nefpo;T jd;ikia mspf;fpwJ. 
(A) (1) kl;Lk; rhp   (B) (2) kl;Lk; rhp 
(C) (3) kl;Lk; rhp   (D) (1), (2) kw;Wk; (3) 
(E) tpil njhpatpy;iy 

 
26. Which of the following statements are true? 

Essential properties of Magnetic Materials to be an Electromagnet. 
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I. Narrow hysteresis loop 
II. High permeability 
III.High coercivity 
IV. Low retentivity  
(A) I alone correct   (B) Both II and III are correct 
(C) II, III and IV are correct  (D) I, II and IV are correct 
(E) Answer not known 
rhpahd $w;Wfisj; Njh;e;njL: 
kpd;fhe;jq;fs; jahhpf;fg; gad;gLk; fhe;jg; nghUl;fs; ngw;wpUf;f Ntz;ba gz;Gfs;: 
I. FWfyhd fhe;jj; jaf;f fz;zp 
II. kpF CLUTjpwd; 
III.kpF fhe;j ePf;Fj;jpwd; 
IV. Fiw jf;f itg;Gj; jpwd;  
(A) I kl;Lk; rhp   (B) II kw;Wk; III rhp 
(C) II, III kw;Wk; IV rhp  (D) I, II kw;Wk; IV rhp 
(E) tpil njhpatpy;iy 

 
27. Consider the statements about the soil and choose the right answer: 

(1) The soils of northern plains are largely deposited by Himalayan Rivers. 
(2) The presence of Iron Oxide is more in a soil popularly known as black soil 
(3) The soil derived from deccan trap is fertile and has high moisture holding 

capacity. 
(A) (1) is true/ correct  (B) (1) and (3) are correct 
(C) (2) and (3) are correct  (D) (1) and (2) are correct 
(E) Answer not known 

 kz; gw;wpa $w;wpy; rupahdtw;iw Nju;e;njL 
(1) tl ,e;jpa rkntspapd; kz; ngUk;ghYk; ,kakiy MWfshy; 

gbaitf;fg;gLfpwJ. 
(2) fUg;G kz; vd;W gpugykhf mwpag;gLk; kz;zpy; ,Uk;G Mf;irL mjpfk; 

cs;sJ. 
(3) jf;fhzg; gPlG+kpapypUe;J cUthFk; kz; tskhd kw;Wk; mjpf <ug;gjj;ij 

jhq;Fk; jpwDilaJ. 
(A) (1) kl;Lk; rupahdJ  (B) (1) kw;Wk; (3) rupahdJ 
(C) (2) kw;Wk; (3) rupahdJ (D) (1) kw;Wk; (2) rupahdJ 
(E) tpil njupatpy;iy 

 
28. Choose the right matches among type: 

(1) Permanent Settlement  - Lord Curzon 
(2) Partition of Bengal  - Cornwallis 
(3) Ryotwari System   - Munro 
(4) Network of Railways  - Dalhousie 
(A) (1) and (3) are correct  (B) (1) and (2) are correct 
(C) (2) and (3) are correct  (D) (3) and (4) are correct 
(E) Answer not known 
rupahfg; nghUe;jpAs;sijj; Nju;e;jpLf: 
(1) epue;ju epytupj; jpl;lk;  - fu;rd; gpuG 
(2) tq;fg; gpuptpid   - fhud;thyp]; 
(3) ,uaj;Jthup Kiw  - kd;Nwh 
(4) ,Ug;Gg;ghij ,izg;G  - ly;n`srp 
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(A) (1) kw;Wk; (3) rup  (B) (1) kw;Wk; (2) rup 
(C) (2) kw;Wk; (3) rup  (D) (3) kw;Wk; (4) rup 
(E) tpil njupatpy;iy 

 
29. Arrange the following in chronological order: 

(1) The Indian National Army Trial 
(2) Formation of Indian National Army 
(3) The Royal Indian Air Force 
(4) C. Rajagopalachari’s Formula. 
(A) (4), (2), (1), (3)  (B) (2), (1), (3), (4) 
(C) (3), (2), (4), (1)  (D) (1), (2), (3), (4) 
(E) Answer not known. 
rupahd fhytupirapy; mikj;jpLf 
(1) ,e;jpa Njrpa ,uhZtk; kPjhd tprhuiz 
(2) ,e;jpa Njrpa ,uhZtk; Njhw;Wtpf;fg;gLjy; 
(3) ,uhay; ,e;jpa tpkhdg;gil Njhw;Wtpf;fg;gLjy; 
(4) rp. ,uh[Nfhghy Mr;rhup jpl;lk; 
(A) (4)> (2)> (1)> (3)  (B) (2)> (1)> (3)> (4) 
(C) (3)> (2)> (4)> (1)  (D) (1)> (2)> (3)> (4) 
(E) tpil njupatpy;iy 
 

30. Choose the true statement(s) about the Fundamental Duties: 
(1) To protect the Sovereignty, Unity and Integrity of India. 
(2) To protect and improve the Natural Environment. 
(3) To preserve the rich heritage of our composite culture. 
(4) To safeguard private property 
(A) (1) and (2) only   (B) (2) and (3) only 
(C) (1), (2) and (3) only  (D) (2), (3) and (4) only 
(E) Answer not known 
mbg;gilf; flikfs; gw;wpa rupahdf; $w;wpid/$w;Wfisj; Nju;e;njL : 
(1) ,e;jpahtpd; ,iwahz;ik> xw;Wik kw;Wk; xUikg;ghl;ilg; ghJfhg;gJ. 
(2) ,aw;ifr; R+oiy ghJfhg;gJ kw;Wk; Nkk;gLj;JtJ. 
(3) ek;Kila ghuk;gupaq;fisAk;> gd;Kfg; gz;ghl;ilAk; ghJfhg;gJ. 
(4) jdpahu; cilikfisg; ghJfhg;gJ. 
(A) (1) kw;Wk; (2) kl;Lk;  (B) (2) kw;Wk; (3) kl;Lk; 
(C) (1) (2) (3) kl;Lk;  (D) (2)> (3) kw;Wk; (4) kl;Lk; 
(E) tpil njupatpy;iy 
 

31. Identify the correct order of the table of Precedence 
(A) Ministers of State of the Union, Chief Ministers of States, Speaker of the Lok Sabha, 

Vice-President. 
(B) Vice-President, Speaker of the Lok Sabha, Chief Ministers of States, Ministers 

of State of the Union. 
(C) Vice-President, Ministers of State of the Union, Speaker of the Lok Sabha, Chief 

Ministers of States. 
(D) Vice-President, Speaker of the Lok Sabha, Ministers of State of the Union, Chief 

Ministers of States. 
(E) Answer not known.   
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Kd;Dupik ml;ltiz tupirapd;gb rupahd tupir xOq;fpidf; fz;lwpf 
(A) kj;jpa murhq;fj;jpd; ,iz mikr;ru;fs;> khepy Kjyikr;ru;fs;> kf;fsit 

rghehafu;> Jiz [dhjpgjp 
(B) Jiz [dhjpgjp> kf;fsit rghehafu;> khepy Kjyikr;ru;fs;> kj;jpa 

murhq;fj;jpd; ,iz mikr;ru;fs; 
(C) Jiz [dhjpgjp> kj;jpa murhq;fj;jpd; ,iz mikr;ru;fs;> kf;fsit 

rghehafu;> khepy Kjyikr;ru;fs; 
(D) Jiz [dhjpgjp> kf;fsit rghehafu;> kj;jpa murhq;fj;jpd; ,iz 

mikr;ru;fs;> khepy Kjyikr;ru;fs; 
(E) tpil njupatpy;iy. 

 
32. Read the following passage and answer the items that follow. Your answer to this 

item should be based on the passage only. 
A nation or society without the participation of women cannot achieve development.  
If we eliminate gender discrimination women will deliver all the potentials.  
Knowledge to develop the family the nation and the world.  As former UN Secretary 
General Kofi Annan has stated – Gender equality is more than a goal in itself.  It is 
precondition for meeting the challenges of reducing poverty, promoting sustainable 
development and building good governance.  
(A) Steps to be taken to ensure Women Education 
(B) Importance has to be given to reduce gender discrimination 
(C) Strong measures have to be taken to stop Sexual Harassment of Women 
(D) Need for the employment Generation Programmes for Women 
(E) Answer not known 
fPo;f;fz;l gj;jpapid thrpj;J> gpd;tUtdtw;wpw;F tpilaspf;fTk;. cq;fs; tpil 
,g;gFjpia mbg;gilahff; nfhz;Nl mika Ntz;Lk;. 
ngz;fspd; gq;fspg;G ,y;yhky; xU ehNlh my;yJ xU r%fNkh Kd;Ndw;wk; mila 
KbahJ. ghypd NtWghl;bid ehk; fise;jhy; FLk;gk;> ehL kw;Wk; ,e;j cyfk; 
tsu;r;rp miltjw;fhd jpwik kw;Wk; mwptpid ngz;fs; ntspg;gLj;Jtu;. If;fpa 
ehLfs; rigapd; Kd;dhs; nghJ nrayhsu; Nfh/gp md;dhd; mtu;fs; ghypd 
rkj;Jtk; vd; vd;gJ Fwpf;Nfhis tplTk; NkyhdJ vdf; Fwpg;gpl;Ls;shu;. NkYk; 
tWikiaf; Fiwf;f> ePbj;j rPuhd tsu;r;rp kw;Wk; rpwe;j MSikf; fl;likg;gpw;F 
,J Kd; epge;jid vd $wpAs;shu;. 
(A) ngz; fy;tpia cWjp nra;tjw;fhd eltbf;iffs; Nkw;nfhs;sg;gl Ntz;Lk; 
(B) ghypd NtWghl;bidf; Fiwg;gjw;fhd Kf;fpaj;Jtk; nfhLf;fg;gl Ntz;Lk; 
(C) ngz;fspd; ghypay; Jd;GWj;jy;fisj; jLf;f fLikahd eltbf;iffs; 

vLf;fg;gl Ntz;Lk; 
(D) ngz;fSf;fhd Ntiytha;g;G cUthf;Fk; jpl;lq;fSf;fhd Njit 
(E) tpil njupatpy;iy 

 
33. Consider the statements on the national co-operative development coporation 

(NCDC) and choose the correct answer 
(1) It is a statutory corporation 
(2) It is an autonomous organization 
(3) Now it is a public financial institution 
(4) Operating under the administrative control of ministry of agriculture and farmer 

welfare. 
(A) (2) and (3) only  (B) (1) and (3) only 

(C) (1) and (4) only  (D) (2) and (4) only 
(E) Answer not known 
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Njrpa $l;LwT Nkk;ghl;L fofk; (NCDC) gw;wpa $w;Wfspy; rupahd tpiliaj; 
Nju;e;njLf;fTk; 
(1) ,J Xu; rl;lg;G+u;t fofk; 
(2) ,J Xu; jd;dhl;rp epWtdkhFk; 
(3) ,d;W ,JNthu; nghJ epjp epWtdkhf ,Uf;fpwJ 
(4) ,J Ntshz; kw;Wk; tptrhapfs; epu;thf fl;Lg;ghl;bd; fPo; ,aq;FfpwJ ey 

mikr;rfj;jpd; 
(A) (2) kw;Wk; (3) kl;Lk;  (B) (1) kw;Wk; (3) kl;Lk; 
(C) (1) kw;Wk; (4) kl;Lk;  (D) (2) kw;Wk; (4) kl;Lk; 
(E) tpil njupatpy;iy 
 

34. Match correctly the systems/ideologies with their corresponding names: 
(a) Report of Ryotwari System   1. Thanthai Periyar 
(b) Panchamer Schools as Adidravida Schools 2. Thomas Munro and Francis  

Ellis 
(c) Leader fought against    3. John Rawls 
(d) Theory of Justice    4. Ayothidasar and  

Singaravelar 
(a) (b) (c) (d) 

(A) 2 4 3 1 
(B) 2 3 1 4 
(C) 2 1 4 3 
(D) 2 4 1 3 
(E) Answer not known 
gpd;tUk; jpl;lq;fs; kw;Wk; fUj;Jfis mJ njhlu;Gila ngau;fSld; rupahf 
nghUj;Jf : 
(a) uaj;thup jpl;l mwpf;if  1. je;ij ngupahu; 
(b) gQ;rku; gs;spfis Mjpjpuhtplu;  
gs;spfs; vd miog;gJ   2. jhk]; kd;Nwh kw;Wk; g;uhd;rp];  

vyp]; 
(c) Mzhjpf;f Ngupdthjj;ij  
vjpu;j;j jiytu;     3. [hd; uhy;]; 
(d) ePjpf; Nfhl;ghL    4. mNahjpjhru; kw;Wk; rpq;fhuNtyu; 

(a) (b) (c) (d) 
(A) 2 4 3 1 
(B) 2 3 1 4 
(C) 2 1 4 3 
(D) 2 4 1 3 

 
35. The initiative to eliminate open defecation in India and improve solid waste 

management through the ‘Swachh Bharat mission’, leads to  
(A) Decline in poverty rates 
(B) Improve employment opportunities 
(C) Improve public health and foster a culture of cleanliness 
(D) Inadequate infrastructure 
(E) Answer not known 
,e;jpahtpy; jpwe;jntsp kyk; fopg;gij xopg;gjw;Fk;> '];tr; ghuj; kp\d;' %yk; 
jplf;fopT Nkyhz;ikia Nkk;gLj;Jtjw;Fk; Nkw;nfhs;sg;gLk; Kaw;rpfs; 
(A) tWik tpfpjq;fisf; Fiwj;jy; 
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(B) Ntiytha;g;Gfis Nkk;gLj;Jjy; 
(C) nghJ Rfhjhuj;ij Nkk;gLj;Jjy; kw;Wk; J}a;ikf; fyhr;rhuj;ij tsu;g;gJ 
(D) NghJkhd cs;fl;likg;G ,y;yhik 
(E) tpil njupatpy;iy 

 
36. Which of the following is incorrectly paired in rural-urban migration? 

(1) Rural to rural migration  - Reverse push back 
(2) Rural to urban migration  - Push – Pull activity 
(3) Urban to urban migration  - Urban turnover 
(4) Urban to rural migration  - Rural turnover 
(A) (1) and (4)  (B) (1) and (2) 
(C) (2) and (3)   (D) (3) and (4) 

(E) Answer not known 
gpd;tUtdtw;Ws; fpuhkj;jpypUe;J efuj;jpw;F ,lk; ngau;T Fwpj;j jtwhd 
nghUj;jj;ijf; fz;lwpf. 
(1) fpuhkj;jpypUe;J fpuhkj;jpw;F ,lk; ngau;T - jiyfPo; vjpu; efu;T 
(2) fpuhkj;jpypUe;J efuj;jpw;F ,lk; ngau;T  - neUf;Fjy; ntspNaWjy;  

nray;ghL 
(3) efuj;jpypUe;J efuj;jpw;F ,lk; ngau;T - efu;Gw kWRow;rp 
(4) efuj;jpypUe;J fpuhkj;jpw;F ,lk;ngau;T - fpuhkg;Gw kWRow;rp 
(A) (1) kw;Wk; (4)  (B) (1) kw;Wk; (2) 
(C) (2) kw;Wk; (3)  (D) (3) kw;Wk; (4) 
(E) tpil njupatpy;iy. 

 
37. Assertion (A): Migration is the movement of people across regions and territories. 

Reason (R): Migration can be external or international. 
(A) (A) is true but (R) is false 
(B) (A) is false and (R) is true 
(C) Both (A) and (R) are true 
(D) Both ( A) and (R) are false 
(E) Answer not known 
$w;W (A): 
,lg;ngau;T vd;gJ gpuhe;jpaq;fs; kw;Wk; gpuNjrq;fSf;F ,ilNa kf;fs; 
,lk;ngau;jy; MFk;. 
fhuzk; (R): ,lg;ngau;T ntspg;GwkhfNth my;yJ ru;tNjrkhfNth ,Uf;fyhk;. 
(A) $w;W [A] rup Mdhy; fhuzk; [R] jtW 
(B) $w;W [A] jtW kw;Wk; fhuzk; [R] rup 
(C) $w;W [A] k; kw;Wk; fhuzk; [R] k; rup 
(D) $w;W [A] k; kw;Wk; fhuzk; [R] k; jtW 
(E) tpil njupatpy;iy 

 
38. Which of the following are correctly paired? 

(1) Kurinji  - Parrot 
(2) Mullai  - Wild-cock 
(3) Marudam  - Lark 
(4) Neydal  - Owl 
(5) Palai  - Pigeon 
(A) (1), (2), (3), (4), (5)  (B) (2), (3), (4) 
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(C) (3), (4), (5)   (D) (1), (2), (5) 

(E) Answer not known 
gpd;tUtdtw;Ws; vit rupahfg; nghUe;jpAs;sd? 
(1) FwpQ;rp  - fpsp 
(2) Ky;iy  - fhl;Lf; Nfhop 
(3) kUjk;  - thdk;ghb 
(4) nea;jy;  - Me;ij 
(5) ghiy  - Gwh 
(A) (1)> (2)> (3)> (4)> (5)  (B) (2)> (3)> (4) 
(C) (3)> (4)> (5)   (D) (1)> (2)> (5) 
(E) tpil njupatpy;iy 
 

39. Read the following assertion and reason and select the correct answer from the code 
given below: 
Assertion (a): In 1801 the British attacked Sivagangai with a powerful army. 
Reason (R): In 1i01 the Marudhu brother Chinna Marudhu gave asylum to 
Oomaidurai. 
(A) (A) is true but (R)is false 
(B) (A) is false but (R) is true 
(C) Both (A) and (R) are true and (R) is the correct explanation of (A) 
(D) Both (A) and (R) are true but (R) is not a correct explanation of (A) 
(E) Answer not known 
gpd;tUk; $w;W kw;Wk; fhuzj;ijg; gbj;J> fPNo nfhLf;fg;gl;Ls;s 'FwpaPl;bypUe;J 
rupahd tpiliaj; Nju;e;njLf;fTk;. 
$w;W (A): 1801k; Mz;by;> Mq;fpNyau;fs; Xu; rf;jptha;e;j gilAld; rptfq;ifiaj; 
jhf;fpdu;. 
fhuzk; [R]: 1801 Mz;by; rNfhjuu; kUJ rpd;d kUJ CikJiuf;F milf;fyk; 
nfhLj;jhu;. 
(A) $w;W [A] rup Mdhy; fhuzk; (R) jtW 
(B) $w;W [A] jtW Mdhy; fhuzk; [R] rup 
(C) $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rup kw;Wk; fhuzk; [R] vd;gJ $w;W [A] 

,d; rupahd tpsf;fk; 
(D) $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rup Mdhy; fhuzk; [R] vd;gJ $w;W [A] 

,d; rupahd tpsf;fk; my;y 
(E) tpil njupatpy;iy 
 

40. Thirukkural is a compilation of the sublime, pure human thoughts according to M. 
Ariel – Based on this saying who has referred the Thirukkural as the Tamil’s sacred 
book 
(A) Mahatma Gandhi  (B) Arignar Anna 
(C) M. Varatharajan   (D) G.U. Pope 

(E) Answer not known 
‘cd;djkhd> J}a;ikahd kdpjr; rpe;jidapd; njhFjpNa jpUf;Fws; ' vd;Dk; vk;. 
Vupaypd; fUj;ij mbnahw;wp jpUf;Fwis 'jkpou; Ntjk;' vdf; Fwpg;gpl;ltu; 
(A) kfhj;kh fhe;jpabfs;  (B) mwpQu; mz;zh 
(C) K. tujuhrd;   (D) [p.A. Nghg; 
(E) tpil njupatpy;iy 
 

41. To arrange Valluvar’s statement about Sageness 
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(1) Modesty 
(2) Truth 
(3) Love 
(4) Obligation 
(5) Complaisance 
(A) (4), (3), (2), (5), (1)  (B) (5), (4), (3), (2), (1) 
(C) (1), (2), (3), (4), (5)  (D) (3), (1), (4), (5), (2) 
(E) Answer not known 
rhd;whz;ikapd; ,yf;fzk; Fwpj;J ts;Stu; $Wtdtw;iw epuy;gLj;Jf. 
(1) ehzk; 
(2) tha;ik 
(3) md;G 
(4) xg;GuT 
(5) fz;Nzhl;lk; 
(A) (4)> (3)> (2)> (5)> (1)  (B) (5)> (4)> (3)> (2)> (1) 
(C) (1)> (2)> (3)> (4)> (5)  (D) (3)> (1)> (4)> (5)> (2) 
(E) tpil njupatpy;iy 

 
42. “Iruppu Mugam Seriththa Aenthelil Maruppin” – Identify the figure of speech used in 

the above line 
(A) Simile   (B) Metaphor 

(C) Personification  (D) Irony 
(E) Answer not known 
",Ug;G Kfk; nrwpj;j Ve;njopy; kUg;gpd;” ,g;ghlypy; gapd;W te;Js;s mzp 
(A) ctik mzp  (B) cUtf mzp 
(C) jw;Fwpg;Ngw;w mzp (D) Ntw;Wik mzp 
(E) tpil njupatpy;iy 
 

43. A, B and C can separately do a work in 12, 15 and 20 days respectively.  They started 
to work together but C left after 2 days.  Then A and B will finish the remaining work 
in ________ days. 
(A) 4  (B) 5    (C) 6  (D) 15  (E) Answer not known 
A> B kw;Wk; C MfpNahu; jdpj;jdpahf xU Ntiyia KiwNa 12 ehl;fs;. 15 
ehl;fs; kw;Wk; 20 ehl;fspy; nra;fpd;wdu;. ,g;NghJ %d;W NgUk; mt;Ntiyia 
xd;whf nra;aj; Jtq;Ffpd;wdu;. Mdhy; C ,uz;L ehl;fspy; Ntiyia tpl;LtpLfpwhu; 
vdpy;> A-k;> B-k; kPjKs;s Ntiyia ______ ehl;fspy; Kbg;gu;. 
(A) 4  (B) 5    (C) 6  (D) 15   (E) tpil njupatpy;iy 
 

44. A square park is surrounded by a path of uniform width 2 metre all around it.  The 
are of the path is 288 sq. metres.  Find the perimeter 
(A) 124 m (B) 144 m (C) 100 m (D) 136 m (E) Answer not known 
mfyKs;s xNu mstpyhd ghijahy; R+og;gl;Ls;sJ. me;jg; ghijapd; gug;gsT 288 
r.kP vdpy; me;jg; G+q;fhtpd; Rw;wstpidf; fhz;f 
(A) 124 kP (B) 144 kP    (C) 100 kP 
(D) 136 kP (E) tpil njupatpy;iy 
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45. A man spends Rs.500 in buying 12 tables and chairs.  The cost of one table is Rs.50 and 
that of one chair is Rs.40.  What is the ratio of the numbers of the chairs and tables 
purchased? 
(A) 5:1  (B) 2:10 (C) 10:5 (D) 9:3  (E) Answer not known 
xU kdpju; &. 500 f;F. 12 Nkirfs; kw;Wk; ehw;fhypfs; thq;Ffpwhu;. xU Nkirapd; 
tpiy &.50k;> xU ehw;fhypapd; tpiy &.40 f;Fk; thq;Ffpwhu; vdpy; mtu; thq;fpa 
ehw;fhyp kw;Wk; Nkirapd; tpiyapd; tpfpjj;ijf; 
(A) 5:1  (B) 2:10 (C) 10:5 (D) 9:3  (E) tpil njhpatpy;iy 
 

46. If LCM of ‘a’ and “a+2” is 1300.  Find the LCM of “a” and “a+1” 
(A) 1350 (B) 2600 (C) 2550 (D) 2700 (E) Answer not known 
a kw;Wk; a + 2 ,tw;wpd; kP.ngh.klq;F 1300 vdpy; a kw;Wk; a + 1 ,tw;wpd; 
kP.ngh.klq;F fhz;f. 
(A) 1350 (B) 2600 (C) 2550 (D) 2700 (E) tpil njhpatpy;iy 
 

47. If 
2 2

2 2

4 15

5 16

a b c a
and then

b c c a

−
= =

+
 

(A) 
1

7
  (B) 

7

25
  (C) 

3

4
  (D) 

25

7
 (E) Answer not known 

4

5

a

b
= kw;Wk;

15

16

b

c
=  vdpy; 

2 2

2 2

c a

c a

−

+
= 

(A) 
1

7
  (B) 

7

25
  (C) 

3

4
  (D) 

25

7
 (E) tpil njhpatpy;iy 

 
48. The number 311 311 311 311 311 311 311 is ___________. 

(A) neither divisible by 3 nor by 11 
(B) divisible by 11 but not by 3 
(C) divisible by 3 but not by 11 
(D) divisible by both 3 and 11 
(E) Answer not known 
311 311 311 311 311 311 311 vd;w vz; MdJ 
(A) 3 MYk; kPjpapd;wp tFglhJ. 11-whYk; kPjpapd;wp tFglhJ 
(B) 11 My; kPjpapd;wp tFgLk; Mdhy; 3 My; kPjpapd;wp tFglhJ 
(C) 3 My; kPjpapd;wp tFgLk; Mdhy; 11-My; kPjpapd;wp tFglhJ 
(D) 3 kw;Wk; 11 My; kPjpapd;wp tFgLk; 
(E) tpil njupatpy;iy 
 

49. In a dice if 1 is opposite to 4 and 2 is opposite to 5, then 
(A) 3 is adjacent to 4 and 6 
(B) 3 is adjacent to 5 and 6 
(C) 2 is adjacent to 3 and 6 
(D) 1 is adjacent to 4 and 6 
(E) Answer not known 
xU gfilapy; 1f;F vjpNu 4 kw;Wk; 2f;F vjpNu 5 cs;sJ vdpy; 
(A) 3 MdJ 4 kw;Wk; 6f;F mUNf cs;sJ 
(B) 3 MdJ 5 kw;Wk; 6f;F mUNf cs;sJ 
(C) 2 MdJ 3 kw;Wk; 6f;F mUNf cs;sJ 
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(D) 1 MdJ 4 kw;Wk; 6f;F mUNf cs;sJ 
(E) tpil njupatpy;iy 
 

50. Modern man originated in which period and epoch of Geological Time scale: 
Period   Epoch 
(i) Tertiary - Paleocene 
(ii) Tertiary - Plicene 
(iii) Tertiary - Oligocene 
(iv) Tertiary - Miocene 
(A) (i) is correct  (B) (ii) is correct 
(C) (iii) is correct   (D) (iv) is correct 
(E) Answer not known 
Gtpapay; fhy ml;ltizapy; etPd kdpjd; ve;j gUtk; kw;Wk; rpW fhyj;jpy; 
Njhd;wpdhd;: 
gUtk;    rpWfhyk; 
(i) nlu;~paup   NgypNahrPd; 

(ii) nlu;~paup   gpspNahrPd;       (Options are inconclusive) 

(iii) nlu;~paup   MypNfhrPd; 
(iv) nlu;~paup   ikNahrPd; 
(A) (i) rupahdit  (B) (ii) rupahdit 
(C) (iii) rupahdit  (D) (iv) rupahdit 
(E) tpil njupatpy;iy 

 
51. Which of the following statements are correct in the context of carbon monoxide 

emissions? 
1. Its mainly due to incomplete combustion of fuel. 
2. They are more evident in petrol engine. 
3. Long term exposure can cause nausea. 
(A) (1) and (2) only  (B) (2) and (3) only  (C) (1), (2) and (3) 
(D) (l)and(3)   (E) Answer not known 
fhu;gd; Nkhdhf;i]L ckpo;Tfisg; gw;wp fPo;f;fhZk; ve;jf; $w;Wfs; rup ? 
(1) ruptu vupf;fhj vupnghUshy; tuf;$baJ. 
(2) ngl;Nuhy; vupnghUs; thfdq;fshy; tUtJ. 
(3) ePz;l Neu ckpo;tpdhy; Fkl;ly; Vw;gLj;Jk;. 
(A) (1) kw;Wk; (2) kl;Lk; (B) (2) kw;Wk; (3) kl;Lk; 
(C) (1)> (2) kw;Wk; (3) (D) (1) kw;Wk; (3) 
(E) tpil njupatpy;iy 
 

52. Choose the right statement(s) about Malwa Plateau 
1. It has an average altitude of 600 m and slopes towards the east.  
2. The plateau region is mostly drained by chambal and its tributary rivers. 
3. The Malwa plateau is located in Rajastan, Gujarat and Madhya Pradesh. 
(A) (1) is correct  (B) (1) and (3) are correct 
(C) (2) and (3) are correct (D) (1) and (2) are correct 
(E) Answer not known 
khy;th gPlG+kp gw;wpa rupahd $w;wpid/$w;Wfisj; Nju;T nra;f : 
(1) ruhrupahf 600 kPl;lu; cauj;Jld; fpof;F Nehf;fp rupe;Js;sJ. 
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(2) gPlG+kpapd; ngUk;ghyhd gFjpfspy; rk;gy; kw;Wk; mjd; Jiz MWfs; 
gha;fpd;wJ. 

(3) khy;th gPlG+kp uh[];jhd;> F[uhj; kw;Wk; kj;jpa gpuNjrj;jpy; mike;Js;sJ. 
(A) (1) kl;Lk; rupahdJ   (B) (1) kw;Wk; (3) rupahdit 
(C) (2) kw;Wk; (3) rupahdit  (D) (1) kw;Wk; (2) rupahdit 
(E) tpil njupatpy;iy. 
 

53. Reason and Assertion 
Assertion (A): Besides being a political Leader, Gopal Krishna Koghale was a great 
Social Reformer 
Reason (R): He was one of the founder of the distinguished organisation known as 
“The Servants of India Society” 
(A) A is true but R is false   (B) A is false but R is true 
(C) Both A and R are true  (D) Both A and R are false 
(E) Answer not known 
fhuzk; kw;Wk; $w;W : 
$w;W [A] murpay; jiytu; vd;gijj; jtpu> Nfhghy fpU\;z NfhfNy xU rpwe;j 
r%fr; rPu;jpUj;jthjp. 
fhuzk; [R] ,tu; ',e;jpa rKjhaj;jpd; Nrtfu;fs;' vd;Dk; jdpj;jd;ik tha;e;j 
mikg;ig epWtpatu;. 
(A) $w;W [A] rup. Mdhy; fhuzk; [R] jtW 
(B) $w;W [A] jtW Mdhy; fhuzk; [R] rup 
(C) ,uz;Lk; $w;W [A] kw;Wk; fhuzk; [R] rup 
(D) ,uz;Lk; $w;W [A] kw;Wk; fhuzk; [R] jtW 
(E) tpil njupatpy;iy 
 

54. Arrange the events in chronological order : 
1. Communal Award 
2. Gandhi Irwin Pact 
3. Chittagong outburst 
4. Poona Pact  
(A) (1), (2), (3) (4)  (B) (2), (3), (4), (1) 
(C) (3),(2), (1), (4)  (D) (4), (3), (2), (1) 
(E) Answer not known 
gpd;tUk; epfo;Tfis fhythpirg;gb mLf;Ff 
1. tFg;Gthjj; jPh;T 
2. fhe;jp - ,h;tpd; cld;gbf;if 
3. rpl;lfhq;f; ntbg;g 
4. g+dh xg;ge;jk; 
(A) (1), (2), (3) (4)  (B) (2), (3), (4), (1) 
(C) (3),(2), (1), (4)  (D) (4), (3), (2), (1) 
(E) tpil njhpatpy;iy 
 

55. Consider the following pairs : 
Famous Place Region 
1. Bodhjgaya - Baghelkhand 
2. Khajuraho - Bundelkhand 
3. Shirdi  - Vidarbha-' 
4. Nasik .  - Malwa 
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5. Tirupathi  - Rayalaseema 
Whidh of the pairs given above are correctly matched? 
(A) (1), (2) and (4) only  (B) (2), (3), (4) and (5) only 
(C) (2) and (5) only   (D) (1), (3), (4) and (5) only 
(E) Answer not known 
fPo;f;fz;ltw;iwr; rupahfg; nghUj;Jf: 
Gfo;ngw;w ,lk;  gFjp 
(1) Gj;jfah   gfy;fz;l; 
(2) f[{uhNfh   gz;ly;fz;l; 
(3) ~Pu;b   tpju;gh 
(4) ehrpf;   khy;th 
(5) jpUg;gjp   ,uhayrPkh 
fPo;fz;ltw;Ws; vit rupahf nghUe;Jfpd;wd? 
(A) (1)> (2) kw;Wk; (4) kl;Lk; rup (B) (2)> (3)> (4) kw;Wk; (5) kl;Lk; 
(C) (2) kw;Wk; (5) kl;Lk; rup (D) (1)> (3)> (4) kw;Wk; (5) kl;Lk; 
(E) tpil njupatpy;iy. 
 

56. Identify the statement that is not correct with regard to President of India. 
(A) President can resign from his office at any time 
(B) President cannot hold office beyond his term of five years 
(C) President can |je removed from his office by an impeachment process 
(D) No President of India has so far been impeached 
(E) Answer not known 

 
,e;jpaf; FbauRj; jiytu; njhlu;ghd gpd;tUk; $w;Wfspy; jtwhd $w;iw 
milahsk; fhz;f. 
(A) FbauRj; jiytu; gjtpapy; ,Uf;Fk; NghJ vg;nghOJ Ntz;Lnkd;whYk; mtu; 

gjtp tpyfyhk; 
(B) Ie;jhz;Lfs; fle;j gpwFk;> FbauRj; jiytu; gjtpapy; ePbf;f ,ayhJ 
(C) Fw;wr;rhl;L (Impeachment) thapyhff; FbauRj; jiytiug; gjtp ePf;fk; 

nra;ayhk; 
(D) ,J tiu ve;j xU FbauRj; jiytUk; gjtp ePf;fk; nra;ag;gltpy;iy 
(E) tpil njupatpy;iy 

 
57. Match List I with List II and select the correct answer by usipg the codes given below 

the list: 
List I List II 
Articles  Councils 
a. Art 280  1. Inter-State Council 
b. Art 263  2. Inter-State Water Dispute Tribunal 
c. Art 262  3. Goods and Services Tax Council 
d. Art 279 A  4. Finance Commission 

(a) (b) (c) (d) 
(A)  4 3 2 1 
(B)  4 1 2 3 
(C) 3 4 1 2 
(D) 1 4 3 2 
(E) Answer not known 
nghUj;Jf: 
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gl;bay; I   gl;bay; II 
ruj;Jfs;   FOf;fs; 
(a) rl;lg;gpupT 280  1. khepyq;fSf;fpilapyhd FO 
(b) rl;lg;gpupT 263  2. khepyq;fSf;fpilapyhd ejpePu; jfuhW jPu;g;ghak; 
(c) rl;lg;gpupT 262  3. nghUl;fs; kw;Wk; Nrit tupf; FO 
(d) rl;lg;gpupT 279 A 4. epjpf;FO 

(a) (b) (c) (d) 
(A)  4 3 2 1 
(B)  4 1 2 3 
(C) 3 4 1 2 
(D) 1 4 3 2 

 
58. Match the following: 

Acts       Year 
a. Tamilnadu Consumer Protection Act   1. 1969 
b. Consumer Movement    2. 1988 
c. Tamilnadu Consumer Protection Rules 3. 1986 
d. The Monopolies and Restrictive  4.1974 
    Trade Practices Act 

(a) (b) (c) (d) 
(A)  3 4 2 1 
(B) 4 3 1 2 
(C) 2 1  3 4 
(D) 3 1 2 4 
(E) Answer not known 
rupahd tpilia nghUj;Jf : 
rl;lq;fs;   Mz;L 
(a) jkpo;ehL Efu;Nthu; ghJfhg;Gr; rl;lk;    1. 1969 
(b) Efu;Nthu; ,af;fk;      2. 1988 
(c) jkpo;ehL Efu;Nthu; ghJfhg;G tpjpfs;    3. 1986 
(d) VfNghf kw;Wk; fl;Lg;ghl;L tu;j;jf eilKiwfs; rl;lk; 4. 1974 

(a) (b) (c) (d) 
(A)  3 4 2 1 
(B) 4 3 1 2 
(C) 2 1  3 4 
(D) 3 1 2 4 
 

59. Arrange the following states with respect to their Niti Aayog SDG India Index 2023-24 
rankings 
1. Tamil Nadu  2. Uttarakhand 
3. Kerala   4. Goa 
(A) (1), (3), (2), (4)  (B) (1), (2), (4), (3)  
(C) (2), (3), (1), (4)  (D) (2), (1), (3), (4)  
(E) Answer not known 
epjp MNahf;fpd; SDG ,e;jpaf; FwpaPL 2023-24 jutupirg;gb gpd;tUk; khepyq;fis 
tupirg;gLj;Jf. 
(1) jkpo;ehL   (2) cj;jpufz;l; 
(3) Nfush   (4) Nfhth 
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(A) (1), (3), (2), (4)  (B) (1), (2), (4), (3)  
(C) (2), (3), (1), (4)  (D) (2), (1), (3), (4)  

 
60. The Tamil Nadu Government implemented Kalaingar Magalir Urimai Thogai Scheme 

for the Welfare of Women. Which of the following is/are the rationale for the scheme 
(i) Gender disparity in annual income according to the Global Gender Gap Report 

2023 
(ii) Changing the poor social status of women 
(iii) Upliftment of rural women 
(iv) Recognize the countless hours of silent work put in by women 
(A) (i) and (iii) only   (B) (ii) and (iv) only 

(C) (i) and (ii) only.   (D) (i) and (iv) only 
(E) Answer not known 
ngz;fspd; eyDf;fhf jkpof muR fiyQu; kfspu; cupikj; njhifj; jpl;lj;ij 
nray;gLj;jpaJ. gpd;tUtdtw;wpy; ve;j fhuzk; ,e;jj; jpl;lj;jpw;fhd epahakhd 
tpsf;fk;. 
(i) cyfshtpa ghypd ,ilntsp mwpf;if 2023 ,d; gb Mz;L tUkhdj;jpy; 

ghypd NtWghL 
(ii) ngz;fspd; Vo;ikahd r%f epiyia khw;w 
(iii) fpuhkg;Gwg; ngz;fspd; Nkk;ghL 
(iv) ngz;fspd; vz;zw;w kzpNeu mikjpahd ciog;ig mq;fPfupj;jy; 
(A) (i) kw;Wk; (iii) kl;Lk;  (B) (ii) kw;Wk; (iv) kl;Lk; 
(C) (i) kw;Wk; (ii) kl;Lk;  (D) (i) kw;Wk; (iv) kl;Lk; 
(E) tpil njupatpy;iy 

 
61. The objectives of National Agricultural Market (e-NAM) portal is to 

(i) Create a unified national virtual market for agricultural commodities. 
(ii) Aid farmers in getting better prices. 
(iii) Provide marketing options to the farmers. 
(A) (i) and (ii) only  (B) (ii) and (iii) only 
(C) (i) and (iii) only  (D), (i), (ii) and (iii) 

(E) Answer not known 
Njrpa tptrhar; re;ij (e-NAM) ,iza Kfg;gpd; Nehf;fk;. 
(i) tptrhag; nghUl;fSf;F. xU xUq;fpize;j Njrpa nka;epfu; -re;ijia 

cUthf;FtJ 
(ii) rpwe;j tpiyiag; ngWtjw;F tptrhapfSf;F cjTjy; 
(iii) tptrhapfSf;F re;ijg;gLj;jy; topfis toq;Fjy; 
(A) (i) kw;Wk; (ii) kl;Lk;  (B) (ii) kw;Wk; (iii) kl;Lk; 
(C) (i) kw;Wk; (iii) kl;Lk;  (D) (i), (ii) kw;Wk; (iii) 
(E) tpil njupatpy;iy 

 
62. The objectives of National Skill Development Council is / are 

(i) To empower women through economic independence 
(ii) To Organise, Training Programmes for youths for skill development across the 

country 
(iii) To provide monetary awards for skill certification to boost employability 
(iv) To boost the productivity of the country's workforce 
(A) (i), (ii) and (iii)  (B) (ii), (iii) and (iv) 
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(C) (i) and (ii) only  (D) (i) only 
(E) Answer not known 
Njrpa jpwd; Nkk;ghl;Lf; fofj;jpd; Fwpf;Nfhs; my;yJ Fwpf;Nfhs;fs; 
(i) nghUshjhur; Rje;jpuk; %ykhf kfspu; Nkk;ghL milar; nra;tJ 
(ii) ehL KOtJk; cs;s ,isQu;fisj; jpwd; Nkk;ghL milag; gapw;rpj; 

jpl;lq;fis mspg;gJ 
(iii) jpwd; Nkk;ghl;Lr; rhd;wpjo; ngw;wtu;fSf;F gz tpUJfs; toq;fp 

Ntiytha;g;ig mjpfg;gLj;Jjy; 
(iv) ehl;bd; ciog;ghsu;fspd; cw;gj;jpj; jpwid mjpfg;gLj;Jjy; 
(A) (i)> (ii) kw;Wk; (iii)   (B) (ii)> (iii) kw;Wk; (iv) 
(C) (i) kw;Wk; (ii) kl;Lk;  (D) (i) kl;Lk; 
(E) tpil njupatpy;iy 

 
63. The ceiling limit per individual for cashless treatment for the first 48 hours of the 

roadside accidents under "Nammai Kaakum-48" scheme is Rs. 
(A) 1.00 lakh  (B) 2.00 lakh    (C) 2.50 lakh 
(D) 3.00 lakh  (E) Answer not known 
ek;ikf; fhf;Fk;-48 jpl;lj;jpd; fPo;> tpgj;J eilngw;w Kjy; 48 kzp Neuj;jpw;Fs; 
gzkpy;yh rpfpr;irf;fhd cr;rtuk;G xU egUf;F &.______ MFk;. 
(A) 1.00 yl;rk; (B) 2.00 yl;rk;   (C) 2.50 yl;rk; 
(D) 3.00 yl;rk; (E) tpil njupatpy;iy 
 

64. The Central Institute of Classical Tamil (CICT) is functioning in its own new dedicated 
premises from 2022 onwards in 
(A) Chepauk   (B) Mysore   (C) Kilambakkam 
(D) Perumbakkam  (E) Answer not known 
nrk;nkhopj; jkpoha;T kj;jpa epWtdk; 2022Mk; tUlk; Kjy; mjd; nrhe;j Gjpa 
gpuj;Naf tshfj;jpy; nray;gl;L tUk; ,lk; 
(A) Nrg;ghf;fk;  (B) ikR+u;   (C) fpshk;ghf;fk;  
(D) ngUk;ghf;fk;  (E) tpil njupatpy;iy 

 
65. Match the following: 

(a) Symbol of wooing  1. Kuruntogai 
(b) Symbol of love   2. Leaf of the Asoka tree 
(c) Crow a good harbinger  3. Natrinai 
(d) Pandil game mentioned in 4. White Lilly 

(a) (b) (c) (d) 
(A)  3 4 1 2 
(B)  2 4 1 3 
(C) 4 2 1 3 
(D) 1 4 3 2 
(E) Answer not known 
nghUj;Jf: 
(a) MjuT NjLjypd; rpd;dk;   1. FWe;njhif 

(b) md;gpd; rpd;dk;     2. mNrhf kuj;jpd; ,iy 
(c) fhfk; xU ey;y Kd;dwptpg;ghd;  3. ew;wpiz 
(d) gz;by; tpisahl;L Fwpg;gplg;gl;Ls;sJ 4. nts;is my;yp kyu; 

(a) (b) (c) (d) 
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(A)  3 4 1 2 
(B)  2 4 1 3 
(C) 4 2 1 3 
(D) 1 4 3 2 

 
66. Which of the following is incorrectly paired? 

(i) Gopala Nayak  - Dindugal 
(ii) Dhoondaji Wagh - Madurai 
(iii) Marudhupandyas  - Ettayapuram 
(iv) Pulithevan   - Nerkattanseval 
(A). (i) and (ii) only  (B) (ii) and (iii) only 

(C) (iii) and (iv) only (D) (iv) only 
(E) Answer not known 
gpd;tUtdtw;Ws; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
(i) Nfhghy ehaf;   - jpz;Lf;fy; 
(ii) J}z;lh[p thf;   - kJiu 
(iii) kUJghz;bau;fs;  - vl;laGuk; 
(iv) Gypj;Njtd;   - new;fl;lhQ;nrty; 
(A) (i) kw;Wk; (ii) kl;Lk;  (B) (ii) kw;Wk; (iii) kl;Lk; 
(C) (iii) kw;Wk; (iv) kl;Lk;  (D) (iv) kl;Lk; 
(E) tpil njupatpy;iy 

 
67. Whose duties are implicity taught in Thirukkural? 

(A) Men  (B) Women   (C) Citizens 

(D) The King  (E) Answer not known 
jpUf;Fwspy; ahUila flikfs; kiwKfkhff; fw;gpf;fg;gLfpd;wd? 
(A) Mltu;  (B) kfspu;   (C) Fbkf;fs; 
(D) murd;  (E) tpil njupatpy;iy 

 
68. What according Valluvar is actually possessed by the people who are called as 

possessors? 
(A) Motivated   (B) Heroic   (C) Wealthy 
(D) Educated.   (E) Answer not known 
cilatu;fs; vd;Nghu; vij cilatu; vd;W ts;Stu; $Wfpwhu;? 
(A) Cf;fk; cilNahu;  (B) tPuk; cilNahu; 
(C) nry;tk; cilNahu;  (D) fy;tp cilNahu; 
(E) tpil njupatpy;iy 

 
69. Match the following: 

(a) Thalai sanga pulavanar thammul       1. Kambar 
(b) Akan podhiyil Thirumunivan Tamil sangam    2. Chekilar 
(c) Koodalinaintha ondeen Tamil        3. Thirugana Sambandar 
(d) Madurai Thokaiyakkinan        4. Manikkavasakar 

(a) (b) (c) (d) 
(A)  2 3 1 4 
(B)  3 4 2 1 
(C)  1 3 4 2 
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(D) 2  1 4 3 
(E) Answer not known 
nghUj;Jf: 
(a) jiyr; rq;fg; Gytdhu; jk;Ks;  1. fk;gu; 
(b) mfd; nghjpapy; jpUKdptd; jkpo;r; rq;fk; 2. Nrf;fpohu; 
(c) $lypdha;e;j xz;Be; jkpo;   3. jpUQhdrk;ge;ju; 
(d) kJiuj; njhifahf;fpdhd;   4. khzpf;fthrfu; 

(a) (b) (c) (d) 
(A)  2 3 1 4 
(B)  3 4 2 1 
(C)  1 3 4 2 
(D) 2  1 4 3 

 
70. The diameter of a sphere is 8 cm. It is melted and drawn into a wire of diameter 3 mm. 

The length of the wire is 
(A) 36.9 m  (B) 37.9 m   (C) 38.9 m   
(D) 39.9 m  (E) Answer not known 
8 nr.kP tpl;lKs;s NfhskhdJ cUf;fg;gl;L 3 kp.kP tpl;lKs;s fk;gpahf 
cUthf;fg;gl;lhy;> mf;fk;gpapd; ePsk; 
(A) 36.9 kP  (B) 37.9 kP   (C) 38.9 kP 
(D) 39.9 kP  (E) tpil njupatpy;iy 

 
71. A sum of money becomes Rs. 13,380 after and Rs. 20,070 008 after 6 years on 

compound interest. Find the sum 
(A) Rs. 4,014   (B) Rs. 8,460   (C) Rs. 9,210 
(D) Rs. 8,920   (E) Answer not known 
xU Fwpg;gpl;l njhifahdJ $l;L tl;b Kiwapy; %d;W Mz;fSf;Fg; gpwF &.13>380 
MfTk;> MW Mz;LfSf;Fg; gpwF &.20>070 MfTk; tsu;r;rp milfpwJ vdpy; me;jj; 
njhif vt;tsT? 
(A) Rs. 4,014   (B) Rs. 8,460   (C) Rs. 9,210 
(D) Rs. 8,920   (E) tpil njupatpy;iy 

 
72. A, B and C start at the same direction to run around a circular stadium. A completes a 

round in 252 seconds. B in 308 seconds and C in 198 seconds, all starting at the same 
point. After what time will they meet again at the starting point? 
(A) 26 minutes 18 seconds  (B) 45 minutes 
(C) 46 minutes 12 seconds  (D) 42 minutes 36 seconds 
(E) Answer not known 
A> B kw;Wk; C MfpNahu; xNu jpirapy; njhlq;fp xU tl;l tbtkhd muq;fj;ij xU 
Kiw Rw;wp tu 'A' tpw;F 252 tpdhbfSk; 'B' tpw;F 308 tpdhbfSk; 'C' tpw;F 198 
tpdhbfSk; Mfpd;wd vdpy; ,tu;fs; ve;j Neuj;jpy; njhlq;fpa epiyapy; njhlq;fpa 
,lj;jpy; re;jpg;ghu;fs;? 
(A) 26 epkplq;fs; 18 tpdhbfs;  (B) 45 epkplq;fs; 
(C) 46 epkplq;fs; 12 tpdhbfs;  (D) 42 epkplq;fs; 36 tpdhbfs; 
(E) tpil njupatpy;iy 

 
73. Find the next term. 64, 32, 48, 120, 420, 

(A) 1260  (B) 1890   (C) 1686 
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(D) 2318  (E) Answer not known 
mLj;j cWg;G fhz;. 
64> 32> 48> 120> 420> 
(A) 1260  (B) 1890   (C) 1686 
(D) 2318  (E) tpil njupatpy;iy  
 

74. Directions: Based on the digit-alphabets-symbols series given below, answer the 
following. 
@1 8 H L I 6 K * & ? U E 
How many numbers are there in the series which are preceded by a vowel and 
succeeded by a consonant? 
(A) Two  (B) Four   (C) Three 
(D) One  (E) Answer not known 
fPo;f;fhZk; tpdhtpw;F tpilaspf;fTk;. 
@1 8 H L I 6 K * & ? U E 
,j;njhlupy; vj;jid vz;fs; capnuOj;ij njhlu;e;Jk;> capu;nka; vOj;Jf;F 
Kd;Dk; mike;Js;sJ? 
(A) ,uz;L  (B) ehd;F   (C) %d;W 
(D) xd;W  (E) tpil njupatpy;iy 

 
75. There are 9 color boxes Red, Black, White, Green, Yellow, Blue, Orange, Violet, Pink 

but not necessarily in same order. Only 5 boxes placed between Red and White. 
Yellow is placed immediate above White. Only three boxes are placed between Yellow 
and Green. As many boxes placed between Red and Green as between Black and 
Yellow. Blue is placed below black but not at bottom More than 4 boxes are placed 
between Yellow and Blue one box is placed between blue and orange. Pink box is 
placed above Violet. Which box is placed immediate above and immediate below 
Black? 
(A) Pink and Green   (B) Pink and Violet 
(C) Green and Blue   (D) Pink and Orange 
(E) Answer not known 
xd;gJ tz;z ngl;bfs; rptg;G> fUg;G> nts;is> gr;ir> kQ;rs;> ePyk;> MuQ;r;> Cjh> 
,sQ;rptg;G ,Uf;fpd;wd. Mdhy; mNj tupirapy; ,Uf;f Ntz;ba mtrpakpy;iy. 
Ie;J ngl;bfs; rptg;G kw;Wk; nts;is ngl;bfSf;F ,ilapy; itf;fg;gl;Ls;sd. 
kQ;rs; ngl;bia nts;is ngl;bf;F cld; NkNy itf;fg;gl;Ls;sJ. %d;W ngl;bfs; 
kl;LNk kQ;rs; kw;Wk; gr;ir ngl;bfSf;F ,ilNa cs;sJ. rptg;G kw;Wk; gr;ir 
ngl;bfSf;F ,ilNa cs;s ngl;bfspd; vz;zpf;ifapNyNa fUg;G kw;Wk; kQ;rs; 
ngl;bfSf;F ,ilapy; cs;sJ. ePyg;ngl;b> fUg;G ngl;bf;F fPNo itf;fg;gl;Ls;sJ. 
Mdhy; mJ mbapy; itf;fg;gltpy;iy. ehd;F ngl;bfSf;F Nky; kQ;rs; kw;Wk; ePyg; 
ngl;bfSf;F ,ilapy; itf;fg;gl;Ls;sJ. xU ngl;b ePyg;ngl;bf;Fk; MuQ;R 
ngl;bf;Fk; ,ilapy; itf;fg;gl;Ls;sJ. ,sQ;rptg;G ngl;b Cjh ngl;bf;F Nky; 
itf;fg;gl;Ls;sJ. ve;j ngl;b fUg;G ngl;bf;F NkYk;> fPOk; ,Uf;Fk; ? 
(A) ,sQ;rptg;G kw;Wk; gr;ir (B) ,sQ;rptg;G kw;Wk; Cjh 
(C) gr;ir kw;Wk; ePyk;  (D) ,sQ;rptg;G kw;Wk; MuQ;R 
(E) tpil njupatpy;iy 

 
76. If → stands for 'addition', 

← stands for 'subtraction', 
↑ stands for 'division', 
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↓ stands for 'multiplication', 
     stands for 'equal to' then which of the following alternatives is correct? 

(A)    (B)  

(C)    (D)  
(E) Answer not known 
→ vd;gJ $l;liyAk;> 
←vd;gJ fopj;jiyAk;> 
↑ vd;gJ tFj;jiyAk;> 
↓ vd;gJ ngUf;fiyAk;> 
   vd;gJ rkk; vd;gijAk; Fwpj;jhy; fPo;f;fz;ltw;wpy; vJ rupahdjhFk;? 

(A)    (B)  

(C)    (D)  
(E) tpil njupatpy;iy 

 
77. One of the following is a mismatch: 

(1) Down's Syndrome - Autosomal trisomy of 21st chromosome 
(2) Haemophilia  - Sex Linked 
(3) Klinefelter Syndrome - XO Complement 
(4) Turner Syndrome - Female with retarded growth 
(A) (3) only 
(B) (1) and (3) only 
(C) (2) only 
(D) (1) and (2) only. 
(E) Answer not known 
,tw;wpy; xd;W jtwhf nghUj;jg;gl;Ls;sJ: 
(1) lTdpd; Fiwghl;L Neha;   - 21 tJ FNuhNkhNrhkpy; Vw;gLk;  

Ml;NlhNrhky; biuNrhkp 
(2) `Pnkhgpypah    - ghy; ,ize;j jiyKiw 
(3) fpspd;/ngy;lu; Fiwghl;L Neha; - XO epiy 
(4) lu;dupd; Fiwghl;L Neha;  - tsu;r;rp gpd;dile;j kfspu; 
(A) (3) kl;Lk;   (B) (1) kw;Wk; (3) kl;Lk; 
(C) (2) kl;Lk;   (D) (1) kw;Wk; (2) kl;Lk; 
(E) tpil njupatpy;iy 

 
78. Match the following List I with List II SDGs (Sustainable Development Goals): 

List I   List II 
(a) SDG 6  1. Life on Land 
(b) SDG 11  2. Life Below Water 
(c) SDG 14  3. Clean Water and Sanitation 
(d) SDG 15  4. Sustainable Cities and Communities 

(a) (b) (c) (d) 
(A)  3 4 1 2 
(B) 4 3 2 1 
(C) 1 3 4 2 
(D) 3 4 2 1 
(E) Answer not known. 



 

28 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

fPo;f;fhZk; epiyahd tsu;r;rp ,yf;Ffisg; gl;bay; I ia gl;bay; II cld; 
nghUj;Jf: 
gl;bay; I     gl;bay; II 
(a) epiyahd tsu;r;rp ,yf;F-6  1. epyj;jpy; thOk; capupfs; 
(b) epiyahd tsu;r;rp ,yf;F -11  2. jz;zPUf;F cs;Ns thOk;  

capupfs; 
(c) epiyahd tsu;r;rp ,yf;F – 14 3. Rj;jkhd ePu; kw;Wk; Rfhjhuk; 
(d) epiyahd tsu;r;rp ,yf;F -15 4. epiyahd efu;Gwq;fs; kw;Wk;  

r%fq;fs; 
(a) (b) (c) (d) 

(A)  3 4 1 2 
(B) 4 3 2 1 
(C) 1 3 4 2 
(D) 3 4 2 1 
(E) tpil njupatpy;iy 
 

 
79. Which of the following statement(s) about the Din-i-Ilahi is/are correct? 

(A) The number of the followers of the Din-i-Ilahi was large 
(B) It is a state religion 
(C) To establish a national religion which would be acceptable to the Muslims and 
the Hindus 
(D) To expand its territories and gain control over the independent states 
(E) Answer not known 
fPo;fhz;gdtw;Ws; jPd;-,yh`p gw;wpa cz;ikahd $w;W/$w;Wfs; vit? 
(A) jPd;- ,yh`pia gpd;gw;wpatu;fs; mjpfk; 
(B) ,J xU muR kjk; 
(C) K];yPk;fs; kw;Wk; ,e;Jf;fs; Vw;Wf;nfhs;s $ba Njrpa kjkhf epWt Ntz;Lk;. 
(D) gpuNjrq;fis tpupTgLj;Jtjw;Fk; Rje;jpu ehLfspd; kPJ fl;Lg;ghl;ilg; 

ngWtjw;Fk; 
(E) tpil njupatpy;iy 

 
80. ________ plate exposed that the Chola Queen Vanamadevi 180. Committed Sati. 

(A) Anbil Plate  (B) Tiruvalangadu Plate 
(C) Bahur Plate  (D) Velvikudi Plate 
(E) Answer not known 
Nrho murp thzkhNjtp rjp Nkw;nfhz;lhu; vd;gij ntspg;gLj;Jk; gl;lak; 
(A) md;gpy; gl;lak;  (B) jpUthyq;fhL gl;lak; 
(C) gh$u; gl;lak;  (D) Nts;tpf;Fb gl;lak; 
(E) tpil njupatpy;iy 

 
81. Match the following: 

(a) Bharathiar     1. Pandian Parisu 
(b) Kavimani Desiga Vinayagam Pillai  2. Tamilan Ithayam 
(c) Bharathidasan     3. Kannan Patt 
(d) Ramalingam Pillai    4. Asia Jothi 

(a) (b) (c) (d) 
(A) 3 2 1 4 
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(B) 4 3 1 2 
(C) 3 4 1 2 
(D) 2 3 4 1 
(E) Answer not known 
nghUj;Jf; 
(a) ghujpahu;     1. ghz;bad; gupR 
(b) ftpkzp Njrpf tpehafk; gps;is 2. jkpod; ,jak; 
(c) ghujpjhrd;    3. fz;zd; ghl;L 
(d) ,uhkypq;fk; gps;is   4. Mrpa N[hjp 

(a) (b) (c) (d) 
(A) 3 2 1 4 
(B) 4 3 1 2 
(C) 3 4 1 2 
(D) 2 3 4 1 
(E) tpil njupatpy;iy 

 
82. Match the Column (A) with Column (B): 

Column (A)      Column (B) 
Theme      Year 
(a) Judicial Activism    1. 1976 
(b) Ethical Governance (SARC)   2. 1997 
(c) Restatement of Values of Judicial life  3. 1947 
(d) Administrative Tribunal   4. 2007 

(a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 3 4 2 1 
(C) 1 2 3 4 
(D) 4 3 1 2 
E) Answer not known 
fPo;fz;l tupir (A) cld; tupir (B) ia nghUj;Jf: 
tupir (A)       tupir (B) 
fUg;nghUs;       Mz;L 
(a) ePjpj;Jiw nraw;ghL     1. 1976 
(b) MSikapy; mwnewp (SARC)   2. 1997 
(c) ePjpj;Jiw tho;tpd; khz;Gfspd; kW mwpf;if 3. 1947 
(d) epu;thfj; jPu;g;ghak;     4. 2007 

(a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 3 4 2 1 
(C) 1 2 3 4 
(D) 4 3 1 2 
(E) tpil njupatpy;iy 

 
83. Choose the correct answer by using Reason [R] and Assertion [A]: 

Assertion [A]: The Constitution of India specifically mentions the power of Judicial 
review. 
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Reason [R]: The Judiciary has successfully expanded the scope of Judicial review over 
the years. 
(A) [A] is true; but [R] is false 
(B) Both [A] and [R] are true; and [R] is the correct explanation of [A] 
(C) [A] is false, [R] is true 
(D) Both [A] and [R] are true; but [R] is not correct explanation of [A] 
(E) Answer not known 
fPo;tUk; $w;W [A] kw;Wk; fhuzk; [R] Mfpatw;iw gad;gLj;jp rupahd tpiliaj; 
Nju;e;njLf;f : 
$w;W [A] : ,e;jpa murikg;Gr; rl;lk; kpfTk; Fwpg;ghf ePjpg;Gduha;T mjpfhuj;ijf; 
Fwpg;gpLfpwJ. 
fhuzk; (R): ePjpj;JiwahdJ jdJ ePjpg;Gduha;T mjpfhuj;ij mLj;jLj;jhz;Lfspy; 
tpupthf;fpf; nfhz;lJ. 
(A) [A] MdJ rup> Mdhy; (R) MdJ jtW 
(B) [A] kw;Wk; [R] MdJ rup; kw;Wk; [R] MdJ [A] d; rupahd tpsf;fk; 
(C) [A] MdJ jtW. (R) MdJ rup 
(D) [A] kw;Wk; [R] MdJ rupahdjhFk;; Mdhy; [R] MdJ [A] f;F rupahd 

tpsf;fky;y 
(E) tpil njupatpy;iy 

 
84. Find out which of the following pairs is not correctly matched? 

(A) S.R. Bommai Case (1994)  - President's Rule  
(B) Unni Krishnan Case (1993) - Right to Education 
(C) Prakash Singh Case (2006) - Judicial Reforms 
(D) M. Nagaraj Case (2006)  - Reservation 
(E) Answer not known 
fPo;f;fhz;gtw;Ws; nghUj;jkw;wJ vJ? 
(A) S.R.nghk;ik tof;F (1994) - FbauRj; jiytu; Ml;rp 
(B) cd;dpfpU~;zd; tof;F (1993) - fy;tpAupik 
(C) gpufh~;rpq; tof;F (2006) - ePjpj;Jiwr; rPu;jpUj;jk; 
(D) M. ehfuh[; tof;F (2006) - ,l xJf;fPL 
(E) tpil njupatpy;iy 

 
85. "No man shall be taken or imprisoned, disseized or outlawed, or exiled, or in any way 

destroyed save... by the law of the land".  
This famous clause is in..? 
(A) Bill of Rights 
(B) Universal Declaration of Human Rights 
(C) Magna Carta 
(D) The Protection of Human Rights Act 1993 
(E) Answer not known 
"ehl;bd; mbg;gilr; rl;lj;jpd;gbNa md;wp ve;j xU kdpjDk; ifJ nra;ag;glNth> 
rpiwg;gLj;jg;glNth> ehLflj;jg;gLtNjh> mtupd; nrhj;Jf;fisf; ifg;gw;wNth" NtW 
ve;j tifapNyh mopf;fg;gl KbahJ. 
,e;j Gfo;ngw;w thrfk; mike;Js;s Mtzk;... 
(A) cupikfs; rl;lk; 
(B) cyfshtpa kdpj cupikg; gpufldk; 
(C) kfhrhrdk; 
(D) kdpj cupikfs; ghJfhg;Gr; rl;lk; 1993 
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(E) tpil njupatpy;iy 
 
86. Assertion [A] : HIV infection more often spreads due to conscious behaviour patterns. 

Reáson [R] The infection of AIDS in blood transfusion patients may occur due to poor 
monitoring 
(A) Both [A] and [R] are not true 
(B) Both [A] and [R] are true, and [R] is the correct explanation of [A] 
(C) Both [A] and [R] are true, and [R] is not the correct explanation of [A] 
(D) [A] is true and [R] is false 
(E) Answer not known 
$w;W (A) vr;.I.tp njhw;W ngUk;ghYk; czu;Ts;s elj;ij Kiw fhuzkhf 
guTfpwJ. 
fhuzk; [R] ,uj;jkhw;w NehahspfSf;F va;l;]; njhw;W Nkhrkhd fz;fhzpg;G 
fhuzkhf Vw;glyhk;. 
(A) $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rupahdjy;y 
(B) $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rup> kw;Wk; fhuzk; [R] $w;W [A] f;fhd 

rupahd tpsf;fkhFk;. 
(C) $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rup> fhuzk; [R] $w;W [A] f;fhd rupahd 

tpsf;fky;y 
(D) $w;W [A] rup> kw;Wk; fhuzk; (R) jtW 
(E) tpil njupatpy;iy 

 
87. Assertion [A] Women's empowerment is a cornerstone of social justice. Initiatives 

such as working women hostels, creches and women-specific skilling programmes 
aim to enhance women's participation in the work force. 
Reason [R] Removing barriers to women's participation in the economy, the 
Government is fostering a more inclusive and dynamic work force. 
(A) [A] is true; [R] is false 
(B) [A] is false; [R] is true 
(C) Both [A] and [R] are true, and [R] is the correct explanation of [A] 
(D) Both [A] and [R] are true, and [R] is not the correct explanation of [A] 
(E) Answer not known 
$w;W (A) ngz;fSf;F mjpfhukspj;jy; vd;gJ r%f ePjpapd; xU %yf;fy;yhFk;. 
gzpGupAk; ngz;fs; tpLjpfs;> Foe;ijg; guhkupg;G ikaq;fs; kw;Wk; ngz;fs; 
njhlu;ghd jpwd; Nkk;ghl;Lj; jpl;lq;fs; Nghd;w Kaw;rpfs; gzpj; njhFjpapy; 
ngz;fspd; gq;fspg;ig Nkk;gLj;Jtij Nehf;fkhff; nfhz;Ls;sd. 
fhuzk; [R] nghUshjhuj;jpy; ngz;fs; gq;Nfw;gjw;fhd jilfis ePf;fp> murhq;fk; 
kpfTk; cs;slf;fpa kw;Wk; Jbg;ghd njhopyhsu;fis tsu;j;J tUfpwJ. 
(A) $w;W [A] rup; fhuzk; [R] jtW 
(B) $w;W [A] jtW fhuzk; [R] rup 
(C) $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rup> NkYk; fhuzk; [R] $w;W [A] 

f;fhd rupahd tpsf;fkhFk; 
(D) $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rup> NkYk; fhuzk; [R] $w;W [A] 

f;fhd rupahd tpsf;fky;y 
(E) tpil njupatpy;iy 

 
88. Tax Incentives for startup companies for a period of three years have been introduced 

in the 
(A) Finance Act, 2016  (B) September 25, 2014 
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(C) November 4, 2011  (D) Finance Act, 2014 
(E) Answer not known 
Gjpjhfj; njhlq;fg;gLk; epWtdq;fSf;F tupr;rYif %d;W tUlq;fSf;F toq;FtJ 
vd;W njhlq;fg;gl;lJ epjp rl;lk;? 
(A) epjpr; rl;lk;> 2016  (B) nrg;lk;gu; 25> 2014 
(C) etk;gu; 4> 2011   (D) epjpr; rl;lk;> 2014 
(E) tpil njupatpy;iy 

 
89. The major renewable energy source in Tamil Nadu 

(A) Windmill  (B) Coal   (C) Oil and Gas 
(D) Nuclear power  (E) Answer not known 
jkpo;ehl;by; cs;s Kf;fpa GJg;gpf;fj;jf;f vuprf;jp Mjhuk; 
(A) fhw;whiy   (B) epyf;fup 
(C) vz;nza; kw;Wk; vupthA (D) mZrf;jp 
(E) tpil njupatpy;iy 

 
90. Which of the following is incorrectly paired? 

(1) Coimbatore  - Manchester of South India 
(2) Madurai   - Cultural capital of Tamil Nadu 
(3) Namakkal  - Rice Bowl of Tamil Nadu 
(4) Thanjavur  - Egg city 
(A) (1) and (4)  (B) (1) and (2) 
(C) (2) and (3)  (D) (3) and (4) 
(E) Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
(1) Nfhak;Gj;J}u;  - njd;dpe;jpahtpd; khd;nr];lu; 
(2) kJiu  - jkpo;ehl;bd; gz;ghl;Lj; jiyefuk; 
(3) ehkf;fy;  - jkpofj;jpd; new;fsQ;rpak; 
(4) jQ;rhT+u;  - Kl;il efuk; 
(A) (1) 5 (4)  (B) (1) 5 (2)   (C) (2) 5 (3) 
(D) (3) (4)  (E) tpil njupatpy;iy 

 
91. Choose the right matches among type : 

(1) Kaverippakkam Inscription - Varaguna 
(2) Thirumukkudal Inscription - Virarajendra 
(3) Tiruvalangadu Plates   - Rajendra I  
(4) Uthiramerur Inscription  - Parantaka I 
(A) (1) and (2) are correct  (B) (3) and (4) are correct 
(C) (2), (3) and (4) are correct (D) (1), (2) and (3) are correct 
(E) Answer not known 
rupahd nghUj;jq;fis Nju;e;njLf;fTk;. 
(1) fhNtupg;ghf;fk; fy;ntl;L - tuFzh 
(2) jpUKf;$ly; fy;ntl;L  - tPuuhN[e;jpuh 
(3) jpUthyq;fhL nrg;NgL  - Kjyhk; uhN[e;jpuh 
(4) cj;jpuNk&u; fy;ntl;L  - Kjyhk; guhe;jfh 
(A) (1) kw;Wk; (2) rup  (B) (3) kw;Wk; (4) rup  
(C) (2) (3) (4)   (D) (1) (2) (3) 
(E) tpil njupatpy;iy 
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92. Identify the party which started Anti-Non Cooperation League in Madras Presidency. 
(A) Swatantra Party  (B) Justice Party 
(C) Communist Party (D) Indian National Congress 
(E) Answer not known 
kjuh]; khfhzj;jpy; xj;Jioahik ,af;f vjpu;g;G rq;fj;ij njhlq;fpa fl;rpia 
milahsk; fhz;f. 
(A) Rje;jpuh fl;rp  (B) ePjpf;fl;rp 
(C) fk;A+dp];l; fl;rp (D) ,e;jpa Njrpa fhq;fpu]; 
(E) tpil njupatpy;iy 

 
 
93. Find out the correct statement: 

(1) Thirukkural was translated in Hindi - Appathetsithar  
(2) Thirukkural was translated in German - Arial 
(3) Thirukkural starts with alphabet '' (Aa) and end with ' (Na) 
(4) Friendship has 13 chapters 

(A) (1) only   (B) (1), (3) only          [3 only correct] 

(C) (1), (4) only  (D) (2), (4) only 
(E) Answer not known 
rupahd $w;wpidf; fz;lwpf. 
(1) jpUf;Fwis ,e;jpapy; nkhopngau;j;jtu; - mg;ghjPl;rpju; 
(2) jpUf;Fwis n[u;kdpy; nkhopngau;j;jtu; Vupay; 
(3) jpUf;Fws; 'm'fuj;jpy; njhlq;fp 'd'fuj;jpy; KbfpwJ 
(4) el;gpay; 13 mjpfhuq;fisf; nfhz;Ls;sJ 
(A) (1) kl;Lk;   (B) (1), (3) kl;Lk; 
(C) (1), (4) kl;Lk;  (D) (2), (4) kl;Lk; 
(E) tpil njupatpy;iy 

 
94. Assertion [A]: "All opinions are here, There is nothing that is not in it". 

Reason [R]: Many of Thiruvalluvar's ideas were innovative and revolutionary 
compared to the prevailing policies of his time. 
(A) [A] is true but [R] is false 
(B) [A] is false but [R] is true 
(C) Both [A] and [R] are true, [R] is the correct explanation of [A] 
(D) Both [A] and [R] are true, and [R] is not the correct explanation of [A] 
(E) Answer not known 
$w;W [A] "vy;yhg; nghUSk; ,jd;gh Ys> ,jd;ghy; ,y;yhj vg;nghUS kpy;iy" 
fhuzk; (R) jpUts;Stupd; fUj;Jfspy; gy mtu; fhyj;jpy; epytpa nfhs;iffNshL 
xg;gpLk; NghJ GJikahdit> Gul;rpfukhdit. 
(A) [A] rup> Mdhy; (R) jtW 
(B) [A] jtW> Mdhy; [R] rup 
(C) [A] kw;Wk; [R] ,uz;Lk; rup> kw;Wk; [R] vd;gJ [A]tpw;F rupahd tpsf;fkhFk; 
(D) [A] kw;Wk; [R] ,uz;Lk; rup> kw;Wk; [R] vd;gJ $w;W [A] tpw;F rupahd 

tpsf;fky;y 
(E) tpil njupatpy;iy 

 
95. Choose the right matches of the following places where Sangam period coins were 

found in Tamil Nadu. 
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(1) Dharmapuri - Thoppoor 
(2) Salem  - Kanniyan Kuttai 
(3) Erode  - Mukkombu 
(4) Trichy  - Vembavoor 
(A) (1) and (2) are correct  (B) (2) and (3) are correct 
(C) (3) and (4) are correct  (D) (2) and (4) are correct 
(E) Answer not known 
rupahd ,iziaj; Nju;e;njLf;f. 
jkpofj;jpy; rq;ffhy fhRfs; fpilj;j ,lq;fs;. 
(1) ju;kGup  - njhg;G+u; 
(2) Nryk;  - fd;dpad; Fl;il 
(3) <NuhL  - Kf;nfhk;G 
(4) jpUr;rp  - ntk;ghT+u; 
(A) (1) kw;Wk; (2) rup  (B) (2) kw;Wk; (3) rup 
(C) (3) kw;Wk; (4) rup  (D) (2) kw;Wk; (4) rup 
(E) tpil njupatpy;iy. 

 
96. A borrows Rs. 16,000 at 12% p.a. simple interest and B borrows Rs. 12,000 at 18% p.a. 

simple interest. In how many years will their amounts debt be equal? 

(A) 
2

12
3

 years  (B) 
2

14
3

 years 

(C) 
2

16
3

 years  (D) 
2

18
3

 years 

(E) Answer not known 
jdp tl;bapy;> A vd;gtu; &. 16>000 njhifia 12% Mz;L tl;bf;F fld; 
thq;Ffpwhu;. jdp tl;bapy;> B vd;gtu; &. 12>000 njhifia 18% Mz;L tl;bf;F 
fld; thq;Ffpwhu;. vj;jid Mz;Lfspy; ,tu;fspd; fld; njhif rkkhf ,Uf;Fk;? 

(A) 
2

12
3

 Mz;Lfs;  (B) 
2

14
3

 Mz;Lfs; 

(C) 
2

16
3

 Mz;Lfs;  (D) 
2

18
3

 Mz;Lfs; 

(E) tpil njupatpy;iy 
 
97. Two numbers are in the ratio of 15: 11. If their HCF is 13. Find the numbers. 

(A) 585 and 429  (B) 195 and 143 
(C) 390 and 286  (D) 117 and 182 
(E) Answer not known 
,U vz;fs; 15: 11 vd;w tpfpjj;jpy; mike;Js;sd. mtw;wpd; kP.ngh.t 13 vdpy; me;j 
vz;fisf; fhz;f. 
(A) 585 kw;Wk; 429  (B) 195 kw;Wk; 143 
(C) 390 kw;Wk; 286  (D) 117 kw;Wk; 182 
(E) tpil njupatpy;iy 
 

98. The least number of square tiles required to pave the ceiling of a room 15 m 17 cm 
long and 9 m 2 cm broad is 
(A) 738  (B) 814   (C) 902 

(D) 656  (E) Answer not known 
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15 kP 17 nr.kP ePsKk; 9 kP 2 nr.kP mfyKk; nfhz;l xU miwapd; jsj;ij 
mikf;fj; Njitahd rJu XLfspd; Fiwe;jgl;r vz;zpf;if vd;d? 
(A) 738  (B) 814   (C) 902   
(D) 656  (E) tpil njupatpy;iy 

 
99. P is elder than Q. R is elder than Q but younger than P. S is elder than P but younger 

than T. Who is the youngest? 
(A) R  (B) T    (C) Q 

(D)   (E) Answer not known 
P vd;gtu; Q I tpl ngupatu;. R vd;gtu; Q-it tpl ngupatu; Mdhy; PI tpl 
rpwpatu;. S vd;gtu; P I tpl ngupatu; Mdhy; TI tpl rpwpatu;. ,jpy; ahu; 
kpfr;rpwpatu;? 
(A) R  (B) T    (C) Q 

(D) S  (E) tpil njupatpy;iy 
 

100. If A → 1 B → 2 C → 3.... Z → 26 
B C AA B C+ + will not be equal to ______ 

(A) FX   (B) S – G   c. (B) (E)  
(D) L    (E) Answer not known 

A → 1 B → 2 C → 3.... Z → 26 vdf;nfhz;lhy; B C AA B C+ + vd;gJ _______f;F rkkhf 
,Uf;fhJ 

(A) FX   (B) S – G   c. (B) (E)  
(D) L     (E) tpil njupatpy;iy 

 
 




